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1.  Which of the following is/are correctly_ matched?

1. Hard resin - Cocaine

I Oleo resin - Canada balsam

III. * Latex .- Rubber

IV.  Alkaloid - Asafoetida

(A) 1only e & 11 and III
~ (C) Ionly (D) IandIV

&éé;a;am_suj)gjdr e1g)/ erameu eflwmen QumBESD?

I. sig et Qe - Qanssmulen
L galwr Gpflen  — ST LITQ&LD
III. CGel G &ew — FULR
IV. soseomim - QurisTwLID
(A) Twl@o . (B I wpmyo III
(©) 1III LDII_@\II.'D - . D) Topood IV
2. Which one of the follox;ring statement(s) about Blue Green Algae (BGA) is/are not correct? .

(A) They are gram negative photosyntheti¢ eyanobacteria
(B) They have survived for about 3 billion years
(C)  Spirulina is the edible form of.BGg\

)_ Sargassum belongs to BGA

" QemeumeuateuD@IeT eTeneu BaliLIS LTS eWE STITSEma? '
(A)  Aymb Opsn e gefECermaudan BaliLsburs
B)r 39l wer e (HsaTs QJITQQJQ _ :

'O Meuman o arey auensmws srihs Heliusbums

(D) gitsrsb folusburd cumsemws sTTHSS)
L]

3. The chromonema is a coiled structure, which can be easily separated in case of
\(A')/] . Paranemic coil (B) Plectonemic coil
(C) Chromonemic coil . (D) Telonemic coil

&CrmwraloT GreTug) @b SHET SE@LLLTED. Gens araligns GRLLE TarLg;
(4)  unmrrefllls smar (B) JYersCLnaflbls smer
(©)  ECrmonafltis smer o (D)  eCoralfg smar
O - ' | : '3 - © G817
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In 1905, Albert Einstein discovered
(A) . Photoelectric effect and Brownian motion

(B) Brownian motion and special theory of relativity

(Bﬂ Special theory of relativity and photoelectric effect
(D)  Photoelectric effect, special theory relativity and Brownian motion "

1905~6 <@L gmetmavig et SaT (R g Sseau

(A)  gafiflan allaarey pmib 9@ erelen G)uigaid

(B) @Qparaflen @uasbd whmib Apliy sriy Aardrens

(C)  &puy srry Garetens whmb gefliblen eflanerey

D) gafldlen eflenaray, Apliy ey Gararans wpmb Wdraraller Guissnd '

1. Dynamic lift of aeroplane is based on the principle of Bernoulli’s theorem.
Glass is less elastic than ;'ubber :

3. For a system free from exteznal forces, linear momentum of the system remains
constant

- Which of the above statement is/are wrong?

w(ﬁ(ﬂ (2) only ' (B) Both{2) and (3)

(C) @only | (D) Both (1) and (2)

1. eflwrend GuGe erpbyeig), CuUratelsn CsHDEms i ILienL WiTsEsE Qsream( 2 ereng;.

2. gameanrmig u e BRI sarenLd @rLiviany 65l Genmey.
3. Gmaﬂsﬁ]m&&@Lqu@ @i ammuﬂle‘m Crir 2 Hstb e wrdladl 2@ b.
GuGen g_drar BV ZATHTAY: ok Tl DHDWG| GTENGU FEUDTEIF|?

W @ okeo B (2) wppd (3) Gran®i
©), | (Nwdbo ==k D) (1) wpmid (2) Granid

A rocket 100 m long at rest starts to move with uniform motion of 0.8 C. What is its length -

" as seen by an observer at rest?

Qéd/?' 60 cm ’ .(B) 80 cm
(C) 100 cm @D 0

Haesdmasntung 100 m ferd Garawr gr&aGs, 0.8 C Casggian Gmgm@urrg {_F,]mmu.mm
UmfreneuwITenT 2ige BarsHenan erhbs m;ﬁluurra; Sjerefi (Heumm?

(A) 60cm : (B) 80cm

(C) "~ 100 em T M) 0
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Which of the following has the highest ionizing power?
(A). X-rays (BS) Alpha rays
(C) Betarays ' . ; (D) Gamma rays

Hetmeu (peuaeuHay e ergl Wse|D iflsnrer ueluirs@gd Fner Qaramg)?
&) Xsdiser " (B)  eur sdliser

(C) YlLrsflesar D) amon sHiser

Sound waves from a sounding car are i
(A) transverse waves - ) (B{’ longitudinal waves

(C)  ultrasonic waves . (D) stationary waves

@\eﬁigg‘;s@mm@@g@m &'.mﬂﬂ@;bg QU(BLD ¢padl Byena ’
() EnsE Ao . - (B) OpLi e
(C) Qaefhwyearrym el yenevser . D) ﬂmmgwaﬁ «

Consider the following statements.
n 4 ‘
- Assertion (A) : Receptors for steroid hormones are located inside the cells.

Reason (R) : Because steroid hormones are lipid soluble molecules that diffuse easily
*through the phospholipid interior of cell membrane.

\Q{Kﬂ Both (A) and (R) are true.and R is the correct explanation of (A)
(B) ¢ Both (A) and (R) are true (R) 1s not a correct explanation of (A)
© Ais true but (R) is false
(D) " (A) is false but (R) is true

étr;gésa;rr@xh"mrré;a%lujr'ma;msr.rés seuangHle) Qamers.
sapm (A) E Gﬁ)lq.l)’ﬁ!lil@ anrrGrenr Gededlayer ermmds Camerse.
. smpemd (R) @ evggr® enriGuomen gm 615]13@@ SDOTUSH UG APOSInDEETTES CETaumLg).
i srafidled umevGuILIG HEEer Qo seualionens sLGe& suguig

A) A wimb (R) #fl wpmid (R)rreng) (A)ée sfluner efleré&snmgod

B) (A wpmb (R;) sflwreng <ema (R)yrens (A)Gﬁ]l,r_b@ sflwrear eflaTésiee

© (A ofl myaied (R) sfwder :

O (&) shude syams (R) &
5 o a GS17
' [Turn over




10.

Hormone Gastrin acts as

&) Stimulates HCI production

s (B) _Caulses-contraction of gall bladder

11.

(C) Water and Salt secretion

(D) Stimulate urine elimination

Caeloig flen @_ﬂ}ﬁﬁ'éLﬁl‘l’@ﬂGﬁT Geuenawinang

)  HClepugBeu greimheg

B) FslmLemw sHESF Gslcug)

(C)  Brwpmibd 2 Lyseer sifsss dalaig

D) é]guf_?,r:r QeuafiGuippsdlenas et (Heus)

The transfer RNA (tRNA) carries the activated aming aeid at its
(A) 5 OHterminal | . A(B)). 3'CCA terminal

-. (© ' T w Cloop - K (D) Anticodon end

12.

L wrhmb . erem gtRNA) epope g G otlwsas @san alugdileo ahsss
Gsadlmg? h Y ’ o '

() 5 OH uyelin " (B) FCCA gpigedip

(Cy T w Ceusnarey ) (D) %siﬂiq_@aam_rrﬁ%r et

1 '

.Neisser in 1879 discovered a sexually transmitted disease known as

(A) Syphillis : (B) AIDS

(.E')/) Gonorrhoea ' : (D) Hydrocele

GS17

1879 Sireven erps Lindefaner Crrulenend sammHiQig S mir?
A  Arpduuer T (B)  eniiev
© Qeu_ant Crm . . (D) e eippsse B Cerga




13.

14,

15.

16.

#

How many printing characters are there in ASCII?
(A) 90 ' (B) 65

(99 94 : (D) 62

ASCII erengpyib GempGaneneuuile) erggenem eNGLOMET DFSTGID eT(LPSSI5HHET 2 areTen?
(A) 90 (B) 65
© 91 - D) 62

GIS stai’lds for

(XY Geographic Information System _ (B) Global Information System
(C) " Graphical Information System (D) Google Information System
GIS erenug .

(A) | yeils gseue permentd = (B) BCermud ssa1d peDaLO
(C) Hyrlsd saeaud apapentd (D) sa@ger ssaue ApmDenLo

is the binary equivalent of (12);,. :

(A) 00010010 (Bﬁ 1100
(© 1101 : : (D) 1010
(12),, ereugen @ reimitg.omer wiy - UG, | -
(A) | 00010010 : (B) 1100

N 10 (D) 1010

The warm current that travels upto Cape Hatteras is known as
(A) Benguella (B) Labrador
(f! Gulf stream : (D)’ Falkland -

G apLJe aUaniy LilLienTd Q‘E@@J‘Lb Qeutiu $CymLL_gden QU .
(A) GuriigGaer BCrm L ib ) B) emiyrr BCym_L1b
(C) s BCrmlLibd - D) Jursembgy BCym b

GS17
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17. 'Match List I and List II and select the correct answer using the codes given below :

List T _ © List1l
(a) Pangaea ' i Continental drift
(b) Panthalassa ‘ 2. Large land mz'l‘ss
’ (c) Tethys . ‘ 3. Huge ocean
(d) Wegengr ' 4. . Small seas

@ B © @

Y ’ (
A 3 . 2 1 4
B 4 2 ] 3
(© .2 3 1 4

98! 2 3 4

btgwe I-eren ulgua I-gyoa Qur@sH, UlguasErsEs &6y o e Qg-ﬁ'@ﬁrlﬂlsﬁ]@jj@'
sflures eflen “ulenen Qg fley Qauwss ; ' .

Cunlgwer I g T
(@) umeangRwm 1. s peie)
(b) ue;'rr;s_,é)rr&rr 2. 2ifl& iana) Bleoliumiy I
A 8 QuilwsapBind "
(d.) Geugflem - ' 4. Ablw sLdser

() (b) © (@

A) 3 2 1 4 )
B 4 2 1 3
(C) 2 3 “ 1 4

D) 2 3 4 1

Gsiz1 - - 8 . ) 0




18.

19.

Match List I and List II and select the correct answer from the codes given below the list : .

List I : * List 11 :
(Major-Rivers) (Percentage of Basin Area) -
(&) {Ganga 1. 9.8 .
(b) Godavari 2. 11.0 T
(¢) Yamuna 3. 9.5
(d) Indus 4 262

@ b @ @

(A)” 3 4 1 g
® 1 3 2 4
Wy 4 3 2 1
Dy 2 1 4 3

~

cuflens I-o e aufilens II- g enen Quamas EpQarissu_Herer sflwmer eflaiulener Ggfey Qais.

euflens 1 sufilens 11 . [ -

(Quflw cﬂq@@ﬂa;d"r) : (pm AyCse LTy FHelisgSle) _
(@) shos 1 1. 938 ‘ :
(b)  Gamgrasd 2. 110
(€  wapener 3. 95 _ .
@  @ps S 'aN T
L@ e \WW
(A) 3 4 1 2
B .1, 3 2 4
%) W4 3 2 1
® 2. 1 4 3
World’s leading prodt;cer c;f tea is
A4) Kenya ' (B) Brazil

~(Cy China E (PY India

2 wdlGaCu ifls erey Gg,uﬁlmeuemu_:- 2 HugH Geiiybd pr@E
(A)  Qsenum ' . B) GCrae

(0). - Ean _ ' - - = D) @pdur

. . . "9 : GS17
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21.

GS17

Which of the following yvear is considered as one of the worst drought year in the last one
hundred years of India? ' '

(A) 2000 : (B) 2001
@ 2002 (D) 2006

Ghdluireilsr sLbs mim e Baatic e Corswrear aupl & L rs Hmaliuheig ergi? .
(A) 2000 (By 2001
(C) 2002 ) (D) 2006

Match the following mineral resources with their reserve places :

List I i List 1T
(a} . Bauxite ‘ 1. Singhbhum
(by Copper 2 Panna
(¢) Diamond 3. Tiruchirappalli -
{(d) Gypsum 4. Bilaspur ’

@ ®  © @

Ay 4 2 3 1
(B) 3 4 2 1
(C) 3 1 4 L 4
@O 4 1 2 3

Seteu (LD &g cuemmisenar Sieupblern @miL G msGarr® Qummsgs :

Ul ig wigb 1 o udgqueIT
(a) unsenal 1. S b
M) Qeby 2. udnenn
(c)  eneurDd 3.  dm&fyrliuere
(d) dlisn 4.+ YeomawiyT
(a) (b) {c) (d)
A 4 2 3 1
B) 3 4 2 1
) 3 1 4 2
Dy 4 1 2 3

10 ' | O
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Which inscription referred to “Piyadassi” as the second name for Asoka?
(A) Girnar ) 2 " (B) Bhabru
) Maski (D). Rummindei

“Quingsl” (LSirﬂu_lg,r'rﬁasﬂ) Gragb GyarLid Guwe GsramEE GHUIDHD sdbeul () arg?
(A)  dlienri - . (B) wmiey
© s D) HESCsm)

Consider the following about Vedic literatures :
1. . The Brahmanas are the treatises relating to prayer and sacrificial ceremony.

II. 'The Upanishads are philosophical texts deahng with topic hke the soul, the absolute,
the origin of the world and the mysteries of nature.

[II. The Aranyakas are called country books.

IV.  The author of Ramayana was Vedavyas and that Qf Mahabharata was Valmiki.

Choose the correct code :

(A) 'L 1II, III and IV ‘ (B) 1II, III and IV only

\(@)] 1andIIonly (D) 1II and IV only

G@Jg M6 @lesSLmger ug)g‘)] ﬁ]mm@m aamg)@ng) Heue :
L @Jgg'lurr(a wHmb Ceuetel ser @@gg, @‘ﬂmesesrma;err Wirrwemiisatics saplia’[Herarern.

II.. emor, dmbow, zodfda Gambobd, @ubensuden |_|iﬂu_1rrg, yéirssr Curenp sgleu

cllensamismend sameg 2 UblL Shiger.
» .

11 prl@ Qesdunisd aens S0 LILI 6L S TERTLISEISET,

v. @rynmnwe&wgmgﬁgﬁmmr’r Gmgsﬁu_lrr&r'r, weTLMgES®mS GubBlueui eureSa wyauf.

sflwreneumenn @g;r'r;is@g,@ -
A) LI I wpmd IV - ) B) 1I, IIT womnd IV vl G -

(© " 1 wimwbdIT wl Go (D) I wpmid IV wi_ @i

11 - GS17
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24. ° Match :

(a) ~ Shutudri 1. Beas

() Vipas ‘ 2. - Ravi

() Parushni 5 Sutlej
{(d) Asikni 4. Jhelum
{e) _Vitasta . 5. Chenab

Select from the codes given below :
@ ® © @ @

“&f) 3 12 5 4

B) 1 2 3 4 5.
) 2 3 1 4 5
™ 4 1 2 3 N
Gun@ggﬂ&;;
(a) &;gjgrﬂ. . Lo | Quwime
, (b? eSlLme b Fral
() ummeged ' 3. FleavE)
;(d) RENEAE T ‘ 4, Sevid
(&) - egevsm ' 5, @éemm;l

= GO Heai el mbsl gl slen_emu CanbolsHidsea)b :
@ ® @ @ @

(A) 3 1 2 5 4
@B 1 -2 3 4 5
© 2 3 1 4 5
® 4 1 2 K| 5

GS17 . - L 12




25.

26.

20

The important site of Harappa was excavated by

{A) R.D. Banerjee

(‘C/)/} Dayaram Sahini

(B

@)

Sir John Marshall

R.5. Sharma

wadusgeud Gubp G orer anylilirena. sperrmiEs QFugeur

(A &g urerig

(C)  swrymd egrablefl

The 23 Tirthankar of Jainism was

(A) Rishabha

“(C) Mahavira

FLOGmT afLDLL:J‘é}@GhT 23-aug) SrssmisTT
A  Aagur

4

(C)  weawnelyr

(B)

)

o~

™

B)

(D)

Tamil Isai Sangam was established at Madras by

(A SirRK S}ianmugam Chettiar

'(C)  Sir M.A. Muthaiah Chettiar

@/

(D)

Geenenanie s Qerss shissms 2 (HeuTsdweu

(A) . 7. 0. Cs. agampsd Gel g

()

&1, aTib.er. apdargwin Qe iquimt

(B)
D),

13- -

&I R DTTaGHED

<D, 6TE. FTLOM

/ Parsvanath
Aji‘tanatha :
&
LIFTI:FEQJ;_F;[T!&';I:I'
SR SIS

Sir Annamalai Chettiar

L.P. Ramanathan Chettiar'

5. SHERTERTMDENE Q&L L u Tt
L3 . = .A \ .
eren. . pmomrges OFl g uwmt
i

GS17
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28.

29.

Which one of the following pair is correctly matched?

(A)
©
(D)

Dynasty

Khilji dynasty
Delhi sultanate
Mughal empire
Tughlugq dynasty

Name

[brahim Lodi
Qutb-udin Aibak
Akbar

Firozshah Tughlug

Qenaumeuansunmer sflwing dunmsgliun L Gy e7g?

(A)
(B)

© .

()

Match List I with List I and select the correct answer using the codes given below the lists.
List IT '

(a)
(b)
{c}
(d)

(A)
\B)
(©)
)

auflepg I = Len cufliens I enw Gummsd @ﬂmgg@a;@ &p Gssrr@a;a;uun__@@rrm Glgn@unﬂlaﬂ@gbgj

GULhFD

Savell aubsLd -
QLeved Fegmeilu
Qurasmeuls Gurrs:

GI&EETS GIDFLD

List I

Kudi Arasu

Revolt
Pagutharivu ,
Modern Rationalist

(a) (b) (©)
3 1 2
4 3 R
2 1 4
1 3 2

e

gflwimer aﬂmpuﬂmamg, Qgfey Qawis.

(a)
(b)
(©)
CY)

A)

suflens 1

Gl HATF
MNGeuman_
L@Ss oy

LTl fem (gaemadleni.

(a) (b) ()

3 1 2
3 2
1 4
3 2

o1 'l STl

(d)

-

Guwr
@uigahit Cevmg.
GELSem B
SNELIIT

HCrragm gisears

1971
1934
1928
1925

cuflens I1
1971
1934
1928

1925

14



Arrange the followmg Mauryan revenue officials in the ascending ordex with the help of the

codes given below :
1. Pradesika -
2. Sdhanika ] . : . .

3: Samharta

4. Rajuka

(A) 4,1,3,2

@ 1,3, 4,2

© 3,1,24 ' )

(DY 2,41, 3

Querflwifrsafien umauTLSgI®D SiFarismarn GLDG\S!(@;B@-] S GiuiGeeaiiar gpaid Carey Gz

1. QrGsdam

2. Gugmeram

3.  sbeprLnm

4, Ty Oam

(A) 4,1,3,2

(B) 1,3, 4,2 '
) 3,124

D 2,4,1,3

Wl’uch British commander captured the Poligar of Panchalankurlcm Virapandya
Kattabomman and hanged him?

(A) Lt. Maclean \(B()) Méjor- Ba_nermann-
(C) Col. Agnew (D) Col. Macaulay

s 2mSCGow @rramieus serLid, urr@&ﬁsurm@@é;ﬂ LT eSS eSTLmaimg W &L Gumbwener

enaglILpm gnadledlLmi?
(A) Qaugenan Gwseder . (B) Gt ureriGLos
(C) atened Biderlyy, (D)  sreréd QussrGa

15 : GS17
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32, Choose the correct answer

The Ind1an National Anny crossed the Indo Burma Frontier and planted the National
Tricolour Flag on.

@ 19 March 1944 _ (B) 20t April 1944
(C) 7t June 1945 g (D) 10t July 1945
gilwimrest aﬁml_emu_l.(gfg,f@@g,(aa;.

@S Cosflu Grrameud QbSHw—uimon eraamauiensns sreirg. Hog ppeuter Gamguilaer o bhihu

BITET
(A) 19 wmE 1944 ‘ (B) 20 guige 1944
(C) TS 1945 ' ' (D) 10 s9ewe> 1945

33.  Which of the following is correct?

The unhappiness of the Indian Sepoys at Barrackpore, first surfaced in 1824 because.
L The 47th regiment at Barrackpore was ordered to go to Burma

IT. Caste distinctions and segregations within the regiment

ITI. Recruitment 'of Brahmins were discouraged

IV. Introduction of the Enfield Rifle

G\ 1 RS 1 (C) 1l and I (D) 1MandIV

EpEHLAL L measeflc sRluneng erg?

e YT ﬁuunu_umﬂm &EG}SI‘!G}%@GMGU)LD 18241 %em@ ul]eslabrﬂeu psen @pg_;,aS]eu g@surrsmélg)@
STTEITLD.

L ursflen 47-aug Gfley rrageud ufrmrr.aﬂg')@ dede o gapeil Lt gl
II. premiel’ tflegs@geanGer srdl Lr@UT{H wDHOID g,aﬂammu@gfsgsi)

II.  Ygowerisear Gaiey Qeiicudléd eass fatans

IV.  aanSar guumsd sipdu@ss

@ 1 - B) 1I (€ Iwpgo Il D) I osgd IV
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Who among the following described the Indian princes as helpers and colleagues in the task
of Imperial rule?

(A). Lord Mayo (B) Lord R1pon
Lord Hardmge I1 - (D) Lord Wavel

& Qar@asiul L eurseafld, @b wearantser qasné]ug,‘é,\uj Q],L_#]a;@' agmu@.lrra;m WHDILD @g,rn‘.ﬁ]eua;
Gamprae eresm s Hlweurt wri?

() GuCur Gry - (B) rﬂuuarr Sy

(C) @uerrLmb apmig i Sy (D) Geueuen My

From the following graph which of the.following years was the ratio of Income to
expenditure the minimum.

70 -
60 -
501 -
401
30
20 4
104 7
0 +— + . i '

1995 1996 1997 1898 71999 = 2000

_ Percent profit

(A) 1996 | i @ 1995
- (C) 1998 R — : (D) 2000

Epsam_ cumpuLgHmES), GophsULEs aupani-Qewdien eildssmg 2 L aumbLLb erg?

@amu 5936-\55.{0

1995 1996 1997 1998 1999 2000

@) 1996 i . ®) 1995
() 1998 (D) 2000
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36.

(A) 45 (B) 40
© 20 (D) 10
The mean of first five prime numbers ig
(&) 5.0 (B) 4.5
©l 56" D) 6.5 _
Q;pg,e-b 5 LIS ereTaaten g (pEsymeil ‘
Ay 5.0 (B) 4.5
(O 5.6 6.5

38.

39.

The mean of b observation is 25, if one of the observation is excluded the mean becomes 20.
The excluded number is

A 45

20

40
10

(B)
D)

5 cramaafllen gl Qegred 25, sweubhembg ¢f aanamen Gédamed eundlar s Heemmef 20
arestley, HadsLi i eremr

(D)

If ‘1’ is the standard deviation of the elements «, ﬂ . Then the standard deviation of the
elements @ + 3, f+ 3, y +3 is : .

@) 1+3
©5 1

1-3
31

(B)
(D)

-gradfled @ + 3, B+ 3, y + 3-ann llLeflawssd
® 1-3
Dy 3!

a. B,y —erdll allewgasd I’
(A 1+3
(8] l

v

If the arithmetic mean of 7, 5', 13, x and a be 10, then the value of x is

(A) " 10 ®Bj 16 | .
Q) 12 . M) 15 ' -

7,5, 13, x whmid a wdweupian egrefl 10 erafled x @Qétr WAL HTETS.

"GS17

(A)
(©)

10
12

16 .
15

(B)
(D)

18



41.

42.

43.

P 1 27P-34Q .

If.' 5=§ then 36P—3Q is _

@w | | ®) f;‘*
@) == ' o 2
Pl

@ | | ® =
o ) 2—95

In 2013, the population of a town is 1,25,000. If it is mcreased by 7% in the.next year Flnd
the populatmn in 2014

. (A) 8750 o @7 1,33,750

(©) 1,16,250 (D) 1,25,000

o

- 2013-Qa, @ paTSHen ms&m@grrmas .25, OOO <055 %GHTLC}.G) <5 7% QumareanTe,

2014 @ev LDBS&GTQQ’)H’GH)BSGB‘)U_IS HTETS.
(A) 8750 (B) 1,33,750 E
(C) 1,16,250 ' ~ (D) 1,25,000 B

Salaries of Ravish and Sumita /@are in the ratio 2:3. If the salary of each is 1ncreased by
Rs. 4,000, the new ratio becomes 40:57. What is Sumita’s present salary?

(A)  Rs. 32,000 ; (B)  Rs. 34,000 -
«¥7 Rs. 38,000 (D) Rs. 40,000

refey wpmb sOgTedem eafu efldsb 2: 3. patar et eafugdHaib ap. 4,000 sifafgsrd, Ldw
parflill e Al 510 40:57 erefled, suligmeilern sHGCUTenSW 2ardluid wimg:?
A e 32,000 , (B) e 34,000
(€ @ 38,000 D) ew. 40,000

 Which is largest in 28%, 2.8%, = and 0.25?

@fl 28% _ - (B) 2.8%
(©) —g o D) 0.25

28%, 2.8%, %’ 0.25 - Qeupdle erg) Duflwig? .
(A) .28% . ; B) 2.8%

(0 % : (D) 025
19 ' GS17
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44.

A horse and two cows together cost Rs. 680. If a horse cost Rs. 80 more than a cow then the
ratio of cost of horse and cow is

@&f) 75 B) 57
€. 89 S (D) 9:8

@ GHer wHmID @m&m@ r@saflen Lorgs eflena . 680. e G slmaurag
Wi e efleaenw AL ¢m. 80 sidsb erafld) G whmb Wi ig.er efleevufiar ciflgloneng

A TH : B) 57

T

- {O) 8:9 : (D) 9:8

45.

i of E of % of a number is 54. Then the number is

-

(A) 280 ' @j 300

. (©) 320 - . (D) 350

46.

T 47,

GS17

) T e aunfl o g LItk dled -g Lirudled % LtbisTeg) 54 oL@, arallé) B ererTem g

(A) 280 . - @) 800

(C) 320 _ (D) . 850
A .
IfA:le:i, B:C=—5-:—7-—, C’:D=—“—:~—5—- then A:B:C:D is
9 6 12 (i L :
J(A)  40:28:35:30s Y B)  30:40:28:35
(C)  28:30:40:3550. ' (D) 35:30:28:40
iy 5 7 2 5 .
A:B=—:—, B:C=—:— =—:— graflew A: B:C: D
e g 1’ O D=7y oo 28
(A)  40:28:35:30 - (B) 30:40:28:35
() 28:30

:40:35 (D) 35:30:28:40 .

If (3x+2y): (3x—2y)=5:2. Then x:y is ; ‘
A 52 . . - @) 149
e 914 B, (D) 25

(3x+2y):(3x—2y)=5:2 arafidd x: ¥ yansz
Ay 52 ! B) 149
Qe ‘ D) - 2:5




48,

49.

50.

"51.

A rectangular carpet has an area of 60 sq.m. Its diagonal and longer side together equal
5 times the shorter side. The length of the carpet is

(A) 5m @7 12m

(C) 13m e (D) -145m

e Qecueus sy eNfGer urliLerey 60 157, éqg,m Hemomen LGHuD, @,oema)a‘ih_l_@pm @msmgbgj
Gnd ugdullsr 5 (DL Sieellh@ S eTeiled, any aflfiviGen Bembd u_trrgj’)

(A) 518 . ®B) 128 .

(C) 138 _' (D) 14548

The number of small cubes with edge 10 cm that can be accommodated in a cubical box of
edge 1mis

(A) 10 ' (B) 100 2

n 1000 : o B (D) 10000 5

1 S uas semey o drer 5@1&@1} QL!lqu.uﬂ]GD agpsman 10 Q.8 Lds Sere)dtar &m&g,n;rra:a;a)m
MEUSHMD?

(A 10 . | ' (B) 100

(©) 1000 | ' (D). 10000

The diameter of a sphere is 6 cm. It is melted and drawn into a wire of diameter 2 mm. The
length of the wire is

@A 12m ' . (B) 18m

Lg)f} 36 m ) 2 . (D) Gé-m

@@ Comargslen AL b 6 Qa.i5. aismar o néd, 2 Bl L Qaram . sbGwrs LDFF:Ii)L\S]GHTde),
g sbiudlen Hemdiims?

A W18s7 o B) 1815 _

€y, 3685 ) (D) 668 |

A uniform circular path of width 4 m is laid out around a circular park of radius 48 m. Find
the area of the circular path -

&7 1256 m? (B) 1255 m?

{(C) 400 m? - (D) 1254 m?.

48 18 eyponas Qe UL aJL;raJL'_I LEisrelen Q@aﬂqu)gﬁ@ 4 5 ssasHo Emée@u&@m

QL (ILneg S@wssILGADS. SItiLr@suden LTL®L STems.
(A) 1956 & - (B) 1255&°.
(C) 4008 - : (D) 12548

21 - ' : GS17
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52. If B=2, BALL = 27 then BOOK = ?
‘(A 40 (B) 41
(©) 42 : = | @ 43

B =2 wpmib BALL = 27 areflés BOOK = ? _
(A) 40 o . B 41

(C)y 42 . ' D) 43-. -
53. Find the missing number : '
3 ?
T 111{27]| 5
9 7114 | ¢
9 | 4
A 10 : : (B 9
«j 8 ' ; (D) 7

GBI L. cTeRTenemTs: STens ;

14

o | 7 6
9 | 4
@A) 10 ' ®) 9

© 8 - ' . D) 7

GS17 —— _, 22




54.

35.

Three views of a cube are given below. What is the letter opposite to A?

W B - , - ® P

Cr B D)y M

BB san sgirsden epanmy agomen Garppriisar ECp Aar@Hssliu_Hdarg erafd, A—‘ufﬂsiﬂ. e

(A) H s ¥y . ®:.p
(C) B X (D). M
If

(1}  Rama scored more than Rani

(2)  Rani scored less than Rathna

(3)  Rathna scored more than Rama and .

(4) : Ramya scm'ed- more than Rama but less thah Rathna then who scored the highest?
() Rama o ' _ (B) . Rani

W _ Rathna ) _‘ (D) Ramya

(D Lom ereueui preflen el s wHOQuea QupprT.

(2) grenfl eranueuT feTeney el @enmeuren LHIGUaT QuhoNT.

(3) TSET eremLIGUT Fomenau el idls wHuGue Quppmi.

(4) " gwr erarUeu momenas o9l SiHEwTsayb ghemtame ol Gepeunsan wAQUERT AuboT

arafied, @@ fls wHUEuer eurhidlueui wri?
&) pon : : B) yref
(C) gSemn - D) gbwr

.23 GS17
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56. If8—5x4=44and 15— 3x3=48then 16-dx5="2
A o 3y 69
© 20 D) 25

8—5x4=44 ohmb 15~ 3 x 3 =48 erafleh 16 — 4 x 5 =7
A) 0 _ (B) 69
© 20 (D) 25

57. Find the next diagram :

oo ::_EP 2

.o - o

@ |, | B | o

© |° ® |,
0

2B usdlanen SaTHUlg &

’
.o
(o ]Re]
[a )
.e
.e
e
~

@ | o | | ®)

(©) = (D)

GS17 - 24



59.

"60.

61.

Which is the strongest acid?

(&) HCOOH * (B) CH,COOH
(©) C,H,COO0H : (D) C,H,COOH

Spsaem_euniie eiflwdlgbs silew erg? . .
(A) HCOOH | (B) CH,COOH
(¢y C,H,COO0H E D) C,H,CO0H

For a cell reaction
A(S) + 2B = A® +2B
the equilibrium constant is found to be 10'%. Then the E; value is

& 0354V (B) 0.708V
©) 00295V D) - 0.177V

Epsaeare Wlaaa oflenarullen

A®S) + 2B = A +2B |

soflava orBledl 107 eraficr, Bigen Eoy iy eraien?

(A) .0.354V _ (B) 0.708V

(C)  0.0295V _ @ 0177V

The specific conductance of a 0.01' M selution of KCI is 1.4 x 10-3 chm-! em-! at 298 K. Its
equivalent conductance is-(ochm=! cm?equt-1).

(A) 0.14 . . (B) 140
(C) 140 W) 140

0:01' M KClI senreaiian Hluin Enggj'&,‘é:;]!DGﬂ 298 K-u9e 1.4 x 10-3 G@Ln "R’ erafler, @asenyaedien -

Foren s_ggigHmer wHlly (ochm-! cm? equt?)
(A) 0.14 (B) 1.40
€y 14.0 D) 140

The compound is used as rocket propellant
(&)") Hydrazine (B) Nitric acid
(C) Ammonia (D) Nitrogen

- praEQal erflGQummer Lwermig H@ e uGuirdldsiu@ib Qurer

(A) - eweplgedenr . - - A (B). anpflE @ifeoid
©) =Coreflur - ' ' (D) enpLlrmen
| ' GS17
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62. The main thruét of the Industrial Policy Statement 1977 was to
(A) Promote large scale industries
- fBY- Develop basic industries
] ,66-”?
(D)  Encourage agriculture-and allied activities

Encourage small scale and cottage industries

| 1977~y e @S Asmfie Qendrersudcs smGireds Qe s by
() Gurerey Gsmile ByaueTismar GobLE g

(B) gl Gsnfasmses (penCarhmieusg

(€)  Alu wHmib @Guess Csmplasamer imés@eﬁ]uu@

(D) Geuarmesr whHmib sTHE Bl 6ulq SN HHENET 2ard @65 L1115

63. Governmént of India introduced the Sarva Shiksha Abhiyan (S8A)1n the year

(A 2001-02 ; (B) 2002-03
{0F)  2003-04 (D) 2004-05

DU (HEGHID Havell (&ieu Siagr snQwrer-SBA) arenp S sens @jf;;ﬂu_lrraﬁla) Siflapsid Geuis

2@ (H
(A)  2001-02 , (B) 2002-03
(©)  2003-04 (D)  2004-05

64.  Filkin jiseblani

India has been recognised as the I country in the world to officially adopt-
Family Planning Programme in .

(A)  First, 1950 ‘ (B) Second, 1952

(0] ~ First, 1952 . (D) Second, 1951 .

aredludl_migener Hlrliys.

o@s  prHselld  GbHwur ——————  EFT  pasdlLsms ———— e
B (penniuRSHwug. ' - . '

(A) I(I;Pg)eurrajg,rraa, 1950 - (B)  @yem_reugrs, 1952

(C)  pserausns, 1952 (D). @rav_rsugns, 1951

GS17 : 26 - | R &




65.

66.

Consider the following statements. . o

Assertion (A) : Soﬂ erosion 1s essentially a man-made phenomenon

Reason (R) : Soil erosion is caused due to deforestation, overgrazing, shifting
cultivation and improperly constructed terrace outlets.

-@(9 Both (A) and (R) are individually true and (R) is the correct explanation of (A)
(B)  DBoth (A) and (R) are individually true but (R) is not a conect explanation of (A)
(C)  (A)is true but (R) is false

(D) (A) is false but (R) is true

Spsangnb cunsdlukismer sauasdd Qarars.

smpm (A) : went Hfluurerg weflgerme :D_(_rD@Jrra;a;uu@Lo Seudlwuwrer Rl _ss565
. ,I-—F)]g’@@'l . L -
smpaero (R) - . wewr yfllureng sTofldsw, oids el sropan GoUFsw,

L T BRLGQuuire;  Geuenmeiments  PpMID  @P@DWTS  SULULILAS | Sligl
Sleniotisefen e arer B QeueflGupmibd.

(A) (A whmb (R) @rﬂm‘r@(ﬁm g, Gugid (R) eremmuig (A) aﬁ]g)@ gflwmes Gﬁlsrrasa;u:
B) (A wpgwb (R) @U@m@m gifl, GLD@JLD (R) eramigy (A) el acrﬂu_lrrso'r aSlendisLoeban
(C) (A) &7 gemmed (R) geum) .

D) (A) g‘mgjlc‘zbmrm) R)sfl -

The Insurance Regulatory and Development Authority (IRDA) Act was passed in the year

(A) 1986 . . (B) 1991

(&7 1999 D) ‘700."

U@ eI HSSISD WHmID euerTés cgg{,msmm (IRDA) s Lib @mmg@uupg %W@
(A) 1986 W (B) 1991.

(€ . 1999 ) (M) 2005

RBI launched the Market Stabilisation Scheme (MSS) in 2004

(A)  for the sale and purchasé of Indian Currency : i
BY! asan additional channel to'l mop up liquidity

{(C)  to fix the rate of interest at the lower level

(D)  tocontrol the general price level )

2004-e spengeniu Hlenawlin(Rsgid S L gdlener @nShw Meteu euridl gleoumdlug)
A @ﬁgglm—gnmmgmg e e, edlHuienar QFdious D@L
(B) Brenng senenufienes sMGFIaIHDHETN G5 SIS ILITET DOTL_HIDME
©) ey cizsms @G;ﬁ)ﬂ)‘l'_i’)g; Hanevuled Sromedl LILgHETS
(D)  Qung eflena Hlanaullenen & HULESSHIUSHETS )
27 . GS17
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68,

69.

GS17

The Expert Group to review the methodology for the estimation of poverty in India in the
vear 2009 was headed by

(A) V.M. Dandekar (B) L.R. Jain

(C)  Martin Ravillion @) S.D. Tendulkar

2009-1b syewrgan @hdwireder cumenweniy wHIEH Feingbd Asdpamnepw ey Qalwbd Gup
@leurg (&)Gm'enmmuﬂ@ SOHSH , )
(A et LLmenGLam (B)  eréb.ym. Clagullen

(C)  mringem peumsllwiasm (D) ere.ig. QLamBevaT

Expenditure tax in India was introduced by
&) T.T. Krishnamachari (B) C. Rajagopalachari
(C) Yashwant Sinha | (DY R. Venkatraman

@g_ﬁgﬁ]mn@ﬂ@v Qaaway cufl @augmed iflpaid Qeiuisc L g
(A)  g.1q. Smeyemorgsrf - B) 4. @rinGarurersgmil
(C) wegeups Henapm (D) <yt QeurkisL_groesm

Consider the following statement :

Assertion (A) According to the New Economig:Policy Globalisation is considered as
an instrument of growth.

Reason (R) o Globalisation increases the cost of trénsport and communication.

Which 1s the correct answer?

) (A) is correct but(R) 1s wrong

By (A) is wreng but (R) 1s correct

(C)  Both (A) and (R) are wrong .

(D)  (A) and (R).are correct and (R) is not the correct explanation of (A)

’

Sp&&HehT_ cundSluibisener seue :

@mpm (A) - bl Gummenranrs Carearens iy 2 OSDWIDTHE eueTTEF&ETar g SHetlLTES
SHSILOEDS.
grenTd (R): g_euaamu;zmrrg,eb Cund@eurdg wHmb  dgrene  Gam ryssren  Lawenas
' - =glaflading. —
@eupmier sflwiner eSleni— et ?

A) ) sflurang yenred (R) seupnergmgh

(B) (A sawpreng) semman (R) FRlUTeSTELD

(€ A womb (R) @raeiin seuprenana

D) A wpmd (R) Grar (i sflwureraneu opmits (R)- (A)sanen sfluimet efleardaid s
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71.

The special Economic Zones Act was enacted in Feb. 2006. Identify which is not the
objective of the SEZ?

(A)  Generation of additional economic activity
wdﬂ Promotion of import
(C)  Creation of employment opportunities

(D)  Development of infrastructure facilities

Gdgeufl 20064 e Aplyl GurmerTgny wem_ob GHlss s b @uHniul’ g Qeuhdiar
GDISECETET GTGIGUEDE GTEH LGNS SHEHLITETLD Sireisr.

(A)  s(pgeoret QUTRHETTSIT HLGUY SEDGSEHET £_(HEUTHEGeUg)

B) pAvsgodaw exsEefiug

(C) Gauena@ aumiliant) 2 (HeUTHEGEUS

(D) s (wrer cusslaaer o (HeuTs@Geaug

Consider the Statement and Reason, choose the correct. answer from the codes given below.
Assertion (A) : The Ratnakar Bank is referred to as NH4 Bank in the banking circles.

Reason (R) : Majority of the business of the Bank comes from cities in and around NH4,
which connects 10 popular cities.

.(36) Both (A) and (R) areicorrect. (R)is the correct explanation of (A)
(B) ° (A)is true (R)ds false

(C)  (A)is true, (R) 1s not the correct explanation of (A)

(D) Both (A)and (R} are false

&G QanBsasiu (erer HmbHmedle, argawbd, elasssams plejGsig, Gar@esuldrer
@S Daafelmbs sflwmer ellen_aw Gsitay Qe

&mabE (A) Cauidl eulLmpsfle ‘gHemmar eumdflenws’ ‘mremambd Gm{HEEETEN
curiid eremm uenpEFlenmeni.

argamd (R) : Qeueuduller  CQu@pburerar  aufgsen, GHEBHEFTmaddD
2 aran, wasaTdgTens HGhs 10 parmisatas CuptardreriiiGdng.

(A)y (A wpmd (R) @uaerdid &fl, (A) efen sflwnar aflenésid (R) g,@h

B) (A sfl (R) seupy

(©) . (A) #A panmed (A)-e90@ (R) sfwmen sfeméasid 2ichew

D) A ovpmb (R) @rar@Go seum
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Which of the following is not a method of soil conservation?
(A)  afforestation ‘ (B) . increasing the size of particles

(C)  slowing down of the water movement @)l applying fertilizers reéulérly

Semeu heuaneu Hbld e urr@a;rrés@fo‘ (LPENID B(EIEV TG ?
(A)  st(hsener UETTHS6 '

(B) ek gaansatlen enellenar DiFaluB S S0
(€ bbb Causgans Gammnsse

(D)  Qsm_réfluns 2 jhisener @ G

The enzyme discovered by CSIR to increase shelf life of fruits and vegetables is
{A)  kinase super oxidase ' (BY ethyl gluconase )
(C)  phenyl aldolase’ GD’)’J super oxide dismutase

* gaflsem wDMID STl euenasedar LEg g,ah%mmmu_l By &a £.erev.g. o B mleuendsmed SHerHluiul L

GS17

G
(A)  esCansv @GUUT ysadlGLaV - (B) edle gepCarGaren -
c Sevanéd @G Gasd D) UL Gpdenon () g.evibu G e
Who is the 40t Chief Justice of India? . ,
(A)r‘ Justice Sathasivam (BY dJustice Altamas Kabir
(C)  Justice Markandey Katju (D) dJustice Lodha

@nbgwreler BrbLgTeug) o Fbdlneam aaeno HELSH wri?

(A  BHwysi sgndeutd B) BHugst s bmen ST
(9] ﬁé.]u.lu&r'f wriaen(ul &lsn® (D) Bdwrer Cangr

Which of the following countries in late 2013 gave approval to commercial release of
Bt-Brinjal? '

()] Bangladesh (B) Mexico
(C) France - . (D) Sweden .

Spsaar pripsailey erbs BI{H 201-3%1__0 spa@maan 19puGHde Bt--ssHNaesmuler el wirLmy
fdhwimer Qeuafluil o H@ eUuSe aupmidliig?

(A)  aurusner G ‘ (B)  GuiadCsn

(C)  Slgmenen _ D)  evelien

30 O




77.

78.

79.

80.

How many times has Rafeal Nadal of Spain Won the French Open Tenms tournament to
break the record?

(A) 7 times {B) 8 times
(7] 9 times (D) 10 times

euGLuflen sk gmie prié Gres eliver Canafay eflenerwm’ G Gurliquida egsenean (pann
Gleuemmy Frgenatantl (PHIwig SSTT?

A Tepep _ (B) 8wep

©)  Swop (D) 10 qpenp

Who among the following have won thg National M.S. Subbulakshmi Award 20147
(Aﬁ) Mathangi Sathyamurthy (B) KPAC Lalitha
(C) Sai Kumar ' ‘ (D) Sujatha

Spaanr_cuis@Erer writ Caflw enb.aren. &liLjeeyll 2014 6fi(mag Qeusmmm ?
A)  wigndl ssdwippiss (B) KPAC avelism
(C) - emi @wrT (D) &g

Name the scientist/organisation who successfully converted plastic shopping bag into diesel,
natural gas and other useful Petroleum products

(A) Ahmed Khan (B) Prof. Angela Vincent
@{) Birendra Kumar Shatma (D) Bose Institute

suamiie: GaTmevig.é emLGaMET &, Gunens aumy wHn Gp uweyder Gul Crrallu oy Eg@unmarTs
Qeuhbl sy wrHHlw o8 ¢hesrafl/ Bmsuamsder Qi Hms

A). | s e (B) Gupn. ggpger eflanGlaem_

(C) ' OCypHy omt smwm (D) CGumev Bimeuemd

Who received Dada Saheb Phalke Award 20137
(}6.’ Sampooran Singh Kalra (B) Vijay Seshadri
{(Cy  Pran Sikand (D) Ramesh Agarwal

s srahil uraGs eflmg 2013 Qupp FUT wWTT?
(A)  sbygen Sk s (B) eflgus Gagarev i
(C) uyen Asp (D) rCuweéy iafrauTd
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81. . Match the following : e -

Paintings ) States KK
(a) Kalam Kari 1.  Andhra Pradesh
(b) Madhu bani 2. Bihar
. (c) Phad 3. Rajasthan
(@ Warli 4.  Maharashtra
(a) (b) (c) (d)
(A 1 .3 2 4
@ 1 2 3 4
(Cy 1 2 4 3
o 2 1 4 3
QuI(BSES : . . | [ - %
leﬂgﬁm&a;eh , WTHleEISET
(8) sambmrd i < hSly iﬁ]l;rCSg,ELb
(b) - wgl Line 2 Serii
(©) wl 3. FrsoeE e
{(d) eummedl 4. LOGITIT T Gidpls; 1T
(a) (b) - @
A 1 3 2 4
®) 1 2 3 4
© 1 2 4 ket '
Dy 2 1 gl 4 3
82."  Which is incorrect pair?
(A) ' Saurav Ghosal — Squash . - (\B‘)ﬂ} Malavath Purna — Archery
(C) Heena Sidhu — Shooting ) (D) Chhanda Gayen — Mountainéer
seuprer @anemaniLis CETHEs®H : -
(A) . Feurel GETFa — e e Teig (I3 mrrsorraj.rrg Lyremorry — aﬁle‘n DEILILEE
(C)y  ablent gy — yLuNES sH 60 (D) snsr Calwer — wanaGuLImsad

GS17 - 32




83.

84.°

85.

86.

87.

Arrange the peaks of Trans-Himalaya region in descending order :
K: — Hidden — Rakaposhi — Haramosh

(B) Hidden — Rakaposhi — Kz— Haramosh

(C) K:z2— Rakaposhi — Hidden — Haramosh

(D) Ka2- Hidden — Haramosh — Rakaposhi

g yreen @ T 2 arar Harhismer GnEi@Gaufamsuie eflens LS8 :
(A) Ko~ el en~ prsGund) - apmiGuomeis

B) afldn— raCGurdl — Kz — apmiGuomes

(C) Kz—graCurd - afl_eim — apmirGLomeis

D) Ko—ablien— ‘a_.rr)r‘r@mﬂ‘siq, - greGuré

Of the following who is not related to “Chipko Movement”?
(A)  Sunderlal Bahuguna (B) M.S. Swaminathan
(C) Chandi Prasad Bhatt (D)} Gaura Devi

Aeneumueumer “ALGET Gussn” GlgeaL en Qgem_midamgseur uini?
(A) spsTeTd UGEGETT (B) _erib.arein, seumilisnges
(C)  &pd Gpers um’ : b D) seypr Caefl

Sumitra Mahajaﬁ is associated with the post of as on June 2014
(A) - Lok Sabha Deputy Speaker : (B) (Rajya Sabha Speaker
Lok Sabha Speaker . (D) . Minister of External affairs

gran 2014 Bloaspiivig &ASTT e @b ug}'e&uﬂ]mem cudlSa QUBSTT
(A)  Gord gur ganent FURHTLST - © (B) grgw sursurpmLST
(C) ' Georrds guim gLMBILST D) OQevellymeys gD SiEWFET

'Which one of the following 1s NOT a National Symbol?

(A) ~ Mango Fruit . . (B) Dolphin
(C)y Lotus ' {(Pn Coconut Tree
&lepasml_sum@m argl Cadlw éiakrea}Lb @@@@?
(A)  wmbupd (B) LrénSlet
(C)  grideny . K =N (D) Ggenenar b

The Silent Valley National Park is located at which district of K;arala?

(A) Tdukki ) . (B! Palakkad
(C) Kottayam . (D) Wayanad

Garermelle a1 wreu L S8ld Sienwdl ueTerggnde CaAWL L hisT ammpg}mm@j?

A4 ovsd B) uresst@ -
€y  CGamlrwbd . o D) awsr®

33

GS17

[Turn over




88.  Arrange in descending order of 2011 Child Sex Ratio in India.

]
(B)
(©)
(D)

Chattisgarh — Kerala — Asom — West Bengal
West Bengal — Asom — Kerala — Chattisgarh
Chattisgarh — Asom — Kerala — West Bengal

- West Bengal - Asom — Chattisgarh — Kerala -

@‘cﬁéjmneﬁ]aﬂ 2011 ser&Qas@L9en Lilg @%erj‘;@ng,a;&ﬂeb el 68l dlshHens

I_L_Guenant LU (H55)6.

(A)  ssdevaT — Cayent — GFTD — ConE eukisTerd

B) Guie aumarard — Gerbd — Cayenr — shblevat

(C)  ssflevat— 2Gamb — Gagerr — GopnE SURISTETD

(D) Cuihe QurRIETETD — B CETLD - sgdlevat — Caremm

89. Match the following and choose the correct answer :

Books ' R Authors

{(a) Gold Finch 1. Daniel Pinto

(h)- '3 sections ] 2. . Vijay Seshadn

() Anticipating India 3. Shekar Gupta: -

(d) Capital Wars 4. Donna Tartt
(a) (b) (c) (d)

Ay 1 . 2 3 4

B 1 .3 4 P

@/ 4 2 3 1

D 1 2 4 3

Sipsaa_eupenn QUIgwsd), silurer dllenL_@amens Coray Gavis
Ugsemsar - _ Sfuiser,

@) Garo Goné 1. GLaflud GaGLn

(b) 3 Qesagenav 2. eflgu Cagsmevu i

(e el AuGuilg i @nEwr 3. Gosi @ugn

(d)  GsinlblL dr suren ' 4, Gurretmemm LT
() (b) ©y (d)

) 1 2 3 4

B) 1 3 4 -2

) 4 2 ) 1

@ 1 2 4 3
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90.

91.

Consider the following statements :

1, There are 25 High Courts in India

2 Punjab, Halyana and the Union Territory of C‘handlgalh hayve a common ngh Court
3 Natxon_al Capital Territory of Delhi has a High Court of its own

Which of the statements given above is/are correct?

(.A&/) 2 and 3 . ) (BY 1and?2

L

(Cy 1,2and3 - - {D) 3only

Spaain . snDmiEeear SMmEHL Qameratayib.

3 2 @pduirelleh 25 aﬁmnﬁglmsﬂg)rmasm _GTea.

2., ugseml, @prﬂu_arrcmrr HMID Ferig.sH oL dluene GUmgeu e &u.xrrﬁé]mmmgymg, Qiesrreu;r@mmm
3. Cpflw sanapaT GLdel gansbaean e e wfEdiangans e (Hereng) !
Gupaar_aubhiia arenay il mangl? ‘

(A)  2uwpmb 3 ) (B) 1wpmb 2

€ 1, 2whpb3 | D) 3@

T

Considering the following statements about the Attorney-General of India.
1. He is appointed by the President of India . '

2.. He must have the same qualifications as are required for a judge of the Supreme
Court _

3. He must be a member of either house of parliament

4. He can be removed by impeachment by parliament

Which of these statements are correct? e

&) 1and 2 . (B) .land3

(©)  2,3and 4 ' (D) 3and4

BpSws 5L sgiemn gyl uphlu sapap smGHe barararajib.
1" @pdu Gywrss seoeeurted Bluifisstu@dne

T2 i&&ﬁﬁ]ma&rm E8lLiflsG Caamaurean SEHann @L.I:fj)glj B)més Casaim(Hid

3. UG TighLosnmaSlen Gim éqwsuaamﬂeb gCaand @Giﬁgﬂsb o miSemrs &) mss Ceuswr(Hid
4. GDDEETL (e apid urrr;rr@mc@rg)g,g,rreu ug,cafﬂ Eaad Clewius wpig b

@eunidicr afwimrer sapmy eTaH:?
‘(A 1wHmbd2 . . - B) lwpmb3
(€ 2, 3whmibd a D) 3 wpmb 4 - -
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The Parliament consists of

€A Lok Sabha and Rajya Sabha ’

4

By The Pre31dent Lok Sabha and Rajya Sabha
(C) Lok Sabha, Council of Ministers and Rajva Sabha
(D) Lok Sabha, Rajya Sabha and Vice-President

LINTMEHLOEN MD CTETLIg)
(A)  &psers HmID Coavsamu
B) gardud, Epsmu whmb Cuodeamu

(C)  Epsanu. wsHu srewsrana WHOID GodFnL

(D) &peeors, Codsaus pmid gienant e

93.

Who is the real executive in a state?

(A)  Governor

(B)  The Speaker

{3 ~ The Chief Minister i
QD)A‘ The Chief Minister and the Council of Ministers

(1 mnﬁmggﬁ]m o GTEnLOIWI T é\clpl_é]ggjé'ﬁ}ﬁ) cﬂqé]a;rrrﬂ WITIT?

@A) syenpi

94.

B) surprwer
(C) qpsaa@wast

(D)  (poemFFBD SeUHML L S @OFSTmeULLD

Comptroller and Auditor General is appomted by the

Premdent

(B) Vlce-Pre51dent )

(C) Rajya Sabha
(D) Lok Sabha

. BEEWODE SaTHES HewllSamaumareny Hldllug

GS17

(A).  Gyurss sameeurt

.(B) swews Guwnas senevault

(C) TTERW FLIT
(DY Gerssur
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96.

(&) 1 and 4

*Consider the following statements with reference to India.

1. The Chief Election Commissioner and other Election Commissioners enjoy equal
power but receive unequal salaries

2. The Chief Election Commissioner is entitled to the same salary as is provided to a
judge of the Supreme Court

3. The Chief Election Commissioner shall not be removed from his office'éxcept in like
manner and on like grounds as a judge of the Supreme Court , :

4. The term of the Election Commissioner is five years from the date he assumes his
office or till the day he attains the age of 62 years whichever is earlier

Which of these statements are correct? _ . ) -
(A) . land?2 @ 2and 3
(D) 2and4

EGp o erar sanmisaficr QS Corsen cfgbsmlew UDM 15,

1. . soamw Gsisd mamuiiwbnb Gy CaHTsd emarmuiser SonmerwiSeryib 2 L wauiEaT
genTe) FOWHM FhLemDd CumSlprisedr - i

b

s Casigan < memmut 2 sebdloamsdan s saflar @anammuina Fibuard QupdpmT

3. eosspduansdean FHudsmen Cuné s Csise ce.gbs‘mmu_:mr; ugell Basbd Gauw

(plg LTS i : Y . .

4.  spoamn Cpigd el § perHs@hss ﬁle&ésa;uu@a?‘lgmr'r_ Gogyd oeur 62 euwig
erLQurupas BlgbyfnCar Ejerma.d eg (parangna eumEDGHT iper Uy LgeS SmLmT

Llameusatlar eTenau &rﬂu_lrrarrm_m?

A 1opmd 2. : (B) 2 whmib 3

©) 1opmibd : D) 2uwpmb 4

Central Vigilance Commission was ‘set up on the recommendation of
(A) Gorwala Report

€BO’7 Santhanam Co‘mmittee
(C) Kripalani Committeé

(D) Indian Administrative Reforms Commission

" gdw sarsranfliL/ Sl amrTe| e erger UMbgengullen Guifle s;r,r_'r)-u(a‘é,g,uul'_l_gj ?

(A) Ganmfreureor siHsens

B)  spgramd G

© Amoureflead @y |

D)  @bdu Pirans Eiglmss y@amuid
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97.

98.

GS17

Which one of the following statements about Comptroller and Auditor General of India is

not correct?

(A)  He has no direct access to the parliament and no minister can represent him

(B) His salary and emoluments are chargeable on the consolidated fund df India

(‘Gjﬁf He cannot disallow any expenditure which in his opinion violates the constitution

(D)  He has been debarred from holding any office of profit under the union or state govt.
after his retirement

EDEaTLIDNIET 6THS snhy @B wnellel Ganeants sawéE WHHILD S sanawuirer UbHHiwg &flude

GTEITLIENG ST &.
(A  SeumsE I_IF[IIFF@LDG:MIDE.@]L_@T Crrg Qs iy e wirg WHMID che BANDESTHLD Sieurs)
rdlhdwrs Qawdu apgurs

(B) wewy cofub opob 9n uemiuwdassr @pdurelen  GsrElydu  HEuisS mhs
auprisliLBHdng : :

€C)  srdueaminly slfsEnsE LTDTE Qe abs QFweafamisEraEn imind aulphis Gusrg

(D) @Gndu soamn searéE wHph Samlémaurant Lgel guie] GQubn Werart, WSS Bl ag
wrfler SiFsrhanseaia. damTUuwen sl el ugell ewddsmd seum Blugeluded b

BaaliuBeurt

The institution of Lokayukta was created first in Maharashtra in the year
@) 1970 ‘ B) 1972
© 1973 ) 1971

-Gmrra;ué;g,rr GG <HEDLOLIL| (LPSEH(LPENDINE ma;ﬂuneiqjtq,g&aﬂeb FHUBSSIULL e
Ay 1970 B) 1972

(C)y 1973 (D) 1971

38 O




100.

thh of the following was referred by Surendra Nath Baneljee as “The Magna Carta of our
rights and liberties”? . . S

(A)  The Constitution of India )
(B) The Indian Councils Act of 1919
(C)  Regulating Act of 1772

sD'f} The Queen’s Prc')clamat‘ion of 1858

Bwg 2 fenwsear whmib a%g,{rg@ug,éﬂw&;rrem DSTFTFED GTEHIM) &Cﬁrjgbﬁuggngg LimemTeg], &Qa;asaml_eug)@so

Grg,emam GO LmT?

A) @ndHu sirdlusentniil] :
(B) Q@pdw seyeardladr &b 1919
©)  guEEwmp s b 1772
D) ygfwucfien Srs_emn 1858

Consider the following statements with regard to Pubhc interest litigation.

1. In essence, a third party can bring before the courtiissues in the public interest_

2. The Supreme Court may action the receipt of a letter or post card from a citizen
requesting protection of his fundamental rights '

3. It is also known as social action litigation

4, Justice V.R. Krishna Iyer and T.N. Bhagawathi were its proponents

A) 1and 2 Y : . ® 2and3

(©) 'g,andzf- \ N @y 1,2, 3and4

Sipseam_gmppsailcs Jurgipe apss @Q}I‘rtl_le_IH'GUT aphenen s(HSHe Qamers.

1. Qurg) Beven &S e apanirh BUT Ayssamansamer EflnarnsSnG tareaT( auFambd ‘

2. P Gysd s SiglumL 2 flowsmar LIGSTEGD GUIGLE Hg.50 anersGar -
Sidag sumd apowrsGear BHwapsd b Cal.(é dsrar_rd o Fehdivemib é{g,em Gufled

@euduLrD
C@a SO S LF)L}‘._TJGD’)Q‘; QGTL_TLITET GULDEE; GTEMHILD <HEMPEHHETLD

4, fg'e_f;]u@ V.R. dl(meizemt niwim LDDQ;LD f,(@%]u@ T.N. useud AHCUNT sTer Glans Gia;rrem@
b6 TEHaT tg‘;gp@.lrr : N - ;

(A) 1 whmid 2 . . B) 2 LD[?)@JL'D 3
© 3uwpmb4 . D) 1,2 3whmb4
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| Consider the following statements.

101.
Assef-tion (A) : * Cuscuta is a parasitic ammal
Reason (R) - , Cuscuta depends on the host plant for 1ts organic food, water and
mineral salts.
(A) Both (A) and (R) are individually true and ( R) is the correct explanation of (A)
(B)  Both (A) and (R) are individually true but (R) is not a correct explanation of (A)
(C)  (A)is true but (R) is false
\(D)/" (A) is false but (R) is true
) &@é;a;rr@s_:n aumsHlubisener seuangse Qandrs.
sgpm (A) : SEVGLT eTerLIg) T epl_(Heiment eflevmiflamsd.
&;FUGZSETL'D (B) T - seu@LT Ferg o ame), gamant wpmb safn 2 oysefldar  Camouserss
: DETE STeUTSHenans onfihd mEEID )
| (A)  (A) opmib (R) @rem(ib s, (R) eraniig (A) el e slwunar efersen -
(BY (A wopw (R) Qe &dl, Guogud (R) eretiuig (A) el p@ FMwmen eDené FHocven
(Cy (A sl pemed (R) Saum) . .
| D)y (A seum cfgxgatrrrra) (R) &l
’ 102. Consider the following statements :
‘ - 1. Chlarofluro carbons have been widely used as super coolants in aerosols and
insecticides.
\, 11 Methoprene is harmfal to plants and animals.
i III.  Photobacterium phosphoreum is an éxample of bioluminescence.
IV.  Pedology is the study of soil in the natural atmosphere.
Find the correct statements .
(AY I, ;I are'correct (B)- I, IIT and IV are correct
w . I and TII are correct (D} III and IV are correct
Epaaenr aursduiiseard seuef
I UTTSRISET (aerosdls) whmb w5 Osredsele, GumbuTeebLITS &GenrGro
C eeenGrmstiuanseT e wiflu @e amig seTns umsau@,a_sg,uu @élempm
II. BGsmI Men SreUrhiseT aflen Gs@rsE Cal efanarellLLIGTELD.
L SCGumiGur undig Ruibd umessurflwib eretug) o ulliv gefliTeflILITenaEEHEE 2 FTTaTLONELD
I\'f. Semeugd ereruig) Gmens @Lpadlad et UDBIL SyuieTE LD '
SpsaanL GHuGasmen’ twatLBSH sflwrer eflen_anw c;r@gjés.
: ) L 1 opgis T ise G sfurerenes B 1, 1T whgd IV o G sfureree
(C) I wpmbd I bl Hib sflwinereansy (D) I wpmd IV e Gib eftwreaene
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103.

104.

© 105.

The colour of tomato fruits is due to the presence of
A) Anthocyanins ' '(B? Carotenoids
(CY  Flavonoids . (D) Tannins

saarat] upsHen audmansHnE G srarriLEb CUT@E T STFeTLTELD
(A)  pCsr emawafenser (B) &GUI‘TLLq_GGTEI’UL!@EG‘.IT
(C) UCeneuemiBser : (D) Gedensmer

Which of the following is odd one out? .
(A) . Fillicophyta (Bﬁ Hysterophyta
(C)  Lycophyta o (D) Psilophyta

Spéanaruamaunaydr AUTmESIbHDEE @9 (5.
02 IRNIO 2\ (6.1 - THTR I (B) gﬁ]duq.@urrfnsm‘ui'_l_rr

(C©) ' oasGarieaullr - (D)  eaenGam et

Cycle dynamo converts

(A)» Mechanical energy into thermal energy
@’)’ ! Mechanical energy into electrical energy
(C)  Electrical energy into light enerr'gy

(D)  Electrical energy into thermal energy

Bileuaimquiley 2 eiren enLenGLom IHMIES)

(A eapdly SpHmene G}leuuu DLDDETE

(B) - epdly pppewe e g ppeons
(C) - blén yppane pafl gyppers -
(D)  dlew gpmene Qeulin yHmeavTE

41
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106.

107.

Which of these connected in parallel in a ecircuit will produce undamped oscillations?

. (A)

(B
9

o
D)

R. L (Resistance, Inductance)
R, C (Resistance, Capacitance)
C, L (Capacitance, Inductance)

R. L and C (Resistance, Inductance and Capacitance)

@eunmieT ergenan W shblen LG&aUT g6 eSS Sen DT AN ST gHU{HD?

(A)
(B)
©)
()

R, L (DérgenL, temblanainib)
R, C (BlangeoL, BSierCasdl)
C, L (WeanCgadl, famblanainid)

R, L mhgid € (NewrgaL, Wenblanawd wpmib BlaCssal)

Which of the following statements are correct?

In an isothermal process,

(a)
(b)
(c}
(d)
A(AY

the temperature of the gas remain constant

the gas does not take any heat from the surroundiﬁgs
the internal energy of the gas remains constant

the pressure.and volume of the gas remain constant

(b) and (¢) are correct (B) (c) and (d) are correct
(a)and (c) are correct (D) (a) and {d) are correct

ECp Qer(HEsl Ll [Herer anpmbsatled eTeneu &‘IﬂUJrFGUTGG)GU?Y

e soleutiLiflane Blapei,
(@  ipg eumujellear deudubleana LIPTSETELD
(b) b eumyy &[bgjuqbgﬁaﬂ@ﬁgj aTbs Geuliupld er@lindlevenen
(€)  eaumuellen 2 67 HOD LIPTFSTEGHD
(d)  eumyellen S(W&SD LHID LHLOET LADTSHTELD
-(A)  epm (b) Ly () sMwrenenay B)  spy (c) womb (d) shwurerena,
©  =dy(a) opmbd (¢) sfiurenana (D)  smpm (a) oo (d) sRlwrateneu
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108. Mateh the following blood pigment with their colour ‘

Pigment Colour -

(&) Haemoglobin 1. Green
(b)  Hemocyanin 2. Red
(¢c) - Chlorocronin 3. Brown
(d) Pinnoglobin 4. Blue

(@ (b () @ :
A 1 2 = 4
B 2 3 4 1 '
) 4 3 g 1
@Y 2 4 1 3

EnSH Bpdsmar aigern Bnsdne ghpaung sfurs durmsgs.
B B

(a)  ablGrgGarmen 1. LIFang
(b) abGureasurafle 2. -Seuly
(@ ERamGrraCrraflen 3. yreye
(d) QenGenngGarmleir 4, Beid
@ ® ©. @
A 1 2 3 4
B) 2- .8 4 W]
cy 4 3 2 1
o 2 4 1 3
109. Consider the following statements.
Assertion (A) ¢ A drinking expectant mother can harm the embryo.
-Reason (R) " The alcohol can pass directly into the blood stream of the fetus. -

w Both (A) and (R) are individually true and (R) is the correct explanation of (A)°

(BY. Both (A) and (R) are individually true but (R) is not a correct explanation of (A)
" (C)  (A)is true but (R) is false - ; _ . |

(D)  (A) is false but (R) is true '

EGETED eUTHSWIE SenaTs ESQ_IGUT‘Q').'Q@ G\&Srreh’&

ah&)gj A @qa@m st Gent] Guer, g,em GBS CUETTES&S gjmugjg,@é}mgrm
ampard (R) InggLITaD QrsssHen ppnrs Ghangss deddlarng. .
(A (A wppb R) @rear@w #fl. (R) erang) (Al eflurmar eflarésib ' !
B) - (A) wpmbd (R) Qe #fl. (R). (A)é@ silwmen efaraswae o ]
(C) (A &fl gpammed (R) seum _ _ . ' o

D) Q) sanp yemd (R) s - . |
0 ' 43 R -
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110. Photochemical smog is formed by
\Q;\,’)w 0,, NO, H,0,, organic peroxide etc
(B)  Consists of mercury and lead

(Cy  Consists of NO, and CO

(D)  Hydrocarbons .

epefl Gaudlwidr Liefilijens o am_T&E STraRTiD

(A) c%é;aﬂggeﬁr; BBLT6N psbenav(h, eoanlrmen guhaan(h, < Tanells Quitgdamean( ete
(B)  urggEDd LHYL STELLD h

(C) anpBLLysne anl pAdeman (B ndmid sniusn Gomearmaamen(H

(D)~ ewen Gy sriue

111. CD-ROMis a
(A) Magnetic memory \' {B{’ Secondary memory

(C)  Semiconductor memory (D) Memory register

Eiq-Gymid ereLg)
A)  srhHs Hlaarcushd : . (B) @UG%MLan Eleney Hlenemausid

(©) _ afidps s Hlenemeusin (D) Aanameus uSGeu

112. Transfer of a file from a server to your computer is called

\(,,4‘()ﬁ Dow‘nloadin'g a file (B) Uploading a file
() | Transfer a file ; | (D) Change a file
- Qateufialimby o emegenLw saflalse qm eume @Lwmmpb Cslsms eran
gm@&&ﬁu@aﬂfp@ '
Ay  oueo ufelnash Qalige (B) auee uflCanmn Geliged
(C) . evue® @L_I'_DIT@[DU) Glewige (D) mr;:c;mcu LD Y H60
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113. Match List I and List Il and select the correct answer using the codes given below :

(a)
(b)
(c)
(d)

(&)
B)
©

- of

List I

. Tropospherel:
Stratosphere
Ozonosphclare
Ionosphere

@ ® ©
3 4 2
4 2 1
2 3 1
<L 3 1

~List IT ) |

1. Ultra violet rays
2. Radiowaves
3. Movement for jet planes

4. Weather changes

ulgued T-o e uligued I-gemer QurEpsdls Llguasers@s §6p 26er QTG mbs

Fflwrar eflenulener Cgfley CFis :

(b)
(c)
(d)

(A)
(B)
(©)
)

uliguien I
CCrriGuimeiSlm
G‘fth..GUl‘_GI_H'GfUI‘_CﬂU_Ir'r :
@G&ﬁ@s&rmﬁmﬁ]uﬁ
<SIGurCenmeudlum
(@) ® @
3 4 2
4 2 1
2 3 1
4 I3 1

o ugued IT
1. L oG SElTaser
2. - CrgCur sienesar

3. Qg argmd upseb UGS

4. euneflened THMD
(d) ~
1
3
4 - ¢
2 .
- 45 o . GS17
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114. Match the items gi;\mn in Column A with the items in Column B.

GS17

(a)
(b)
(c)
(d)

(A)
(B)

(D)

Column A

Coal

Aluminium

éopper ore

Iron ore

(a) (b)
1 2
3 4
2 4
2 3

(c)

Lo

(d)

Column B
Sulphides
Bituminous
Magnetite

Bauxite

Qam@d A-eneu Qgn@d B-ayen Qummsgis.

(a)
(b)
(e)
(d)

(A)
®)
©
(D)

CgmeEd A
Hlevdef -
é{@jl.ﬁ]auﬂmb
Gleby srg)

By grg)

(a) (b)
1 2

3 4

{c)

@

QgrEd B
FeoenLlL_(h
QI (HLbleen
Guodement -

Ln&enal_

46



115.

116.

The Bokaro steel plant was set up in the year
(A) 1970 (B) 1967
&ZQ 1973 _ (D) 1975

GurssnGrr Gmibyy Agmfiperena Himeiiun’ L eu@mL b
(A) 1970 ' : (B) 1967

(C) 1973 . (D) 1975

Match List I and List I1 :

List I ‘ List I
(Crop) (Producer) )
(@) Tea 1. Gujarat
.(b) Rice 2. Kerala
{¢) Tobacco 3 # Assam
(d) Rubber 4. West Bengal

@ ® © @

A 2 4 3 T

@ 1- 2 "3 Bt

€ "4 3 - 2 1 '
Wy - 3 4 1 2

cuens [ wpmIb auens II-Lq_;GE)GW Glurr@‘é,gla;.:

cuans | suena I1
. (Lul) ' (epusHwmert) -
(a) - Csuiema ' 1. GRITS
(b) =S 2. Gayarm
(00 ymslee 3. - BIGDEVITLD
(d) r;:'Ju.r'r 4, Cuoh eukisTemd

(a) (b) © @

Ay 2 4 3 1
B 1 2 3 « I
) 4 3 . 2 1
O 3 4 1 2
. 47
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117. In India the electricity consumption is given importance to the following sector-order it
according to the importance given by the government

m Industry, agriculture, railway traction and public lighting
(B) Agriculture, industry, public lighting and railway traction
"(C) Agriculture, public lighting, industry and railway traction
(D) Industry, agriculture, public lighting and railway traction
ApSureliey Hipbaator_ geopsafiey Narsmy metesE WeHusgabd CarResiuBing — 36
Gar@éEn wpadwuggeub Ursrrd s @urEGUhSs. - B
(A) Qsmfbgienm, efleusmugienp, @rdld CursEaTss wWHmb AUTE @efliu s s a
(B)  eflewsruib, Asmngiesm, durg ealuu@ggises wpmib Grile Curasgeaursg
€y efeusmwb, Gurg eelluREsIs0, derfihgemn whHD Grdlae Cursgeaursg
(D) Gsrfpgiern, edeugmub, Qurgl galllL@sgsd whmb Grdle CursGearsg

118. Match List I with List 1I and select the correct answer using the codes givenbelow :

| List] List 1T
(a) Vasanta 1. Summer
(b} Grisma 2 Monsoon
() Varsa By Winter
(d) Sisira 4, Spring
(a) (b) (©) ()
(Ay 4 2 3 1
B 2 1 3 4
(C) 38 2 1 4
@O/ 4 1 2 3

eufilane T-a L ufiens II-s wer) Qurmsd auflamssEréE S Qarssuu’ Rarer grglldmHe)
afluimar el e wilevan Ugilay Caws : ) '

aifiens I euflens I1

(a) euspsT . 1. Caren gmeold

(b) 4Sflevwr 2. LI(B6US STELD

(©) eumagr 3. @eflT smeulb

(dy Hedlynr 4. EanCGouelp &Tevd
(a) (b) (c) (d)

(A) 4 2 3 1

®B "2 1 3 4

< 3 2 1 4

M 4 1 2 3

GS17 ' 48 - . O




119

120.

127§

The figure of a dancing éirl made of bronze is excavated in the place of
(A) Dilly : (B) Lothal
(Y7 Mohenjodaro ' ) (D-) Rupar

‘g_r;:n'_tq.u_‘r whiens arerm Geuaisa 2 (heu QLMD eThiE S THESILLL g ?
A)  god ' C(B)  Gergsd
(C) QursgsesrGrr D) ot

Which of the following is/are wrongly matched?

L. Bhavabhuti . Malatimadhavam

II. . Subandhu - Vasavadatta

[II. Kalidasa = —  Dasakumara Charita

IV. ) Dandia - Avémti Sundari

(&) IandIIl ' (B) IandII
(© LandIV @) 1Land IV

erreu (e ereu Him & g;eugpne;; QuaESsLILL(HeTers) 61g)?

L ueuLLSl - WIRHLISeD

I sups - aunsausBsD

OL  srafsret o o WeaWnr shsdno

v, gf;'tiETLq.l‘.Uﬂ" h - SleupSl bsi

(A') 1 mmg;u.b 111 : B) I wopmw II _
© Lt oppo IV _ D) " III wpgp IV

How many major Indian private banks have been nationalised in 1969 during
Indira Gandhi’s regime?

@ 10 - o® 1 ,

@00/’ 14 . | D) 20

1969-b yavr® @bslor st cﬂ__ﬂ,l_ﬁuﬁlm @urr@ aigamar @b ;_r,arﬂu_rrrrr i fl e
Caflwwpwbrdsiin L g?

’

A) 10 : (B 11 |
© 14 D) 20

" 49 GS17
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122, Match : .
(a) Al Hilal 1. Mahatma Gandhi

&

(b} Navajivan Abul Kalam Azad
(¢) Bombay Chronicle 3. Aurobindo Ghosh
4

(d) Bande Mataram Pheroze Shah Mehta

(a) (b) (c) (d

A 1 2 4 3
(B . 2 3 4 1
@’ 2 1 4 3 \
@y 1 2 3 4
- QuTmESIS :
(a) c"HGD oblenTed ) 1. OETSLOM &H S
(b)  meu Heuen Z, BIL|GD FELD FTH
(€) whumi flyraflsd 3. SiplEg Cameip
(d)  eupls wrgro 4. GCrregagr Cuosm
(a) (b) {c) (d)
A 1 2 4 3
B 2 3 4 1
© 2 1 4 3
Oy 1 2 B " 4
123. .Dinabandhu Mitra’s first play expoéed the atrocities of the E;ritish indigo
: planters.
(A)  Kulin Kulasarvasva i (B) Ratnavali
. @f] Nil Darpan : (D) Ras-lila
Sewubgy WSHTSEN pEHD HILSOIE — m&Gaw @lamgGar GamiL ssrrisafir
Qan@enwaeen QeuaflliLBsSwg).
(A)  @edlen Geostaurseur B) rsameiah
€) e gruen (D) s eSeorr

GS17 ' 50 ' o




124.

K. Kamaraj, participated in Vedaranyam Salt Satyagraha, he was imprisoned and sent to
the prison at :

{A) Coimbatore (B) Vellore
(C) Andaman ’ - (B{; Alipur

&. SOETET Geﬁgrﬂ]s&m‘um 2 Ly ssfundlissdle swng Qsram_spsrs, @sg Gelg Raopudd
Slen_Gasl_L QL tb ——————

(A) Camwubyggnt _(B) Geugprmt
€) spswrean — D) ey

Choose the correct answer from the codes given below :

" (a) Assertion n 4 The Asoka Chakra found in our National flag consists of twenty four

] spokes. They are in blue colours.
(b) Reason . The twenty four spokes denoctes the eight fold path of Lord Buddha.
() Both (a) and (b) are correct
(B) (a) is correct, (b) is wrong .
(C)  (a) is partly correct, (b) is wrong
(D) (a) is partly correct and (b) is also corrett

<§C8ép Qar@ésiiul Herer @HuSGeclalimbg #Nure sl mu semn@dy.

ka) H(H&S! g B Ceflws Qs ille 2 drer 2IQeTs FEEID 24 QYRGEHET 2 ML WIF. SHeD6U
g e B Qarawm_emau.

(b) snyemtd 24 sphisEnh Lgs e erameuldld Qesrrmmassm_laa G &dlemen.

A)  (a) vpgud(b) Gren o sl ) (B) (a) &, (b) seumy

Q) fa)ueHblEw #f, (b) seun D) (a) em u@,é,\ul.-b, (b) b &/

Our National Anthem was composed by Rabindranath Tagore, it was first sﬁng in the year

(A) 1905 . (B) 1906

~@fl 1911 (D) 1912

g Cadlw &g,g;mg, 2 (Heumdkdluaul @Uﬁﬁgbﬁﬁpﬁﬁg STga, BULTLG WpseT WewTs GamssatiulL
ey

(A) 1905 (B) 1906

(Cy 1911 . (D) 1912

51 . GS17
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127. Match List I with List II of the following with suitable options

... ListT | o : List I1

| (a) Virupaksha Temple 1. Ellora
(b) Kailasanat_ha Temple 2. Kaiugumalai
(c) V;ettu'r.ar:l Temple 3. Pattadakal
(d) Ladhkhan Temple 4 :

Aihole

@ ® © @
(Ay

3 1 4 2
@) 3 1 2 -4
© 1 3 2 4

D 1 2 3 4

g@@ Qa;n@é;&ﬁ;ul;@drm uligwer I flimpg uligwie 11— Aurmsswonereunenp Caiih Qs [ &s.

QR | L iguaed 1]
(a) eimuser Camude 15 GI'GDGG\)I'I"I]’H’
(b) ma;eurr&g;rré,r’r (;'iasrruﬁieh M S(LpGLD awev
(©) G]a_n'_@rjrr‘sin Ga;fru_c,]si-) 3. UL L L &&eD
) eolarerCantd 40 eiQsnd

@ @@

A 3 1 4 2
B) 3 1 2 4
© 1 3 2 4
®). 1 2 3 4

128. Chinese pilgrim Yuan Chwang visited Kanchi in .
&9 AD. 640 -~ (B) AD.500
. (Cy AD. 150 : , (D) AD.720

S WISTET WiGuTem SHeunb an@gplepw LmiepeuuiL g
(A)  £.9.640 . : - (B) 4.4.500
(€ £.9.150 . (D) 419720

GS17 ) - 52




130.

Consider the following statements. .. : : . AT

Assertion (A) Gandhiji started civil-disobedience movement in 1930.

" Reason (R) : Therefore, the Indian National Congress party did not partlu::lpate in

the first round table conference held in 1930.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A) )
(B)  Both (A) and (R) are true and (R) is not the correct explanation of (4)

(@) (A is true but (R) is false

Dy (A isl false but (R) is true

Spssnamib eunsSlutisear seuansHie Qanars.

snpm (A) : srhSlwigser 1930- s bpiy Quisssmss Glgrimiglenm.

aryewrid (R) <25Ga, @b Cadlw a;rrrmeﬂrjcsm &8 1930 pge . euiL Coend LDI'I'(IB[TLLq_GD

_ sbg Cardrarailena.
Ay @A) womb (R) &ft. (R) erenugy (A) efling sflwmer eflerdsind
(B) (A wpgbd (R) &fl wihmid (R) smwugj (A) eﬁlm@ Filwimer e ar&s06060

(C) (A sf e (R) seumy
D) (A gaum game (R) &Ml

Consider the following statements. : _
Assertion (A) :  In 1916 Annie Besant organised the home rule league at Madras.
Reason (R) " Its abjective is.to achiéve home rule through constitutional methods.

1

\pﬂ Both (A)and (R) are true and (R) is the correct explanation of (A)
(B) Both (A)and (R) are true (R) is not the correct explanation of (A) )
(C) (A is true (R) is false '

(D) ‘ (A)is false (R) is true

SpaenTL surrsaa%urma;smm seuasi&asayLb.

L4 -

sapm (A) - : 1916 b ek Senafll Gusen @&mmmuﬁ]m gmmrrs_aﬂ FBIGHNS
. @qmmg,g,rr'r -
anyenid (R) o " sirdluaeniolily penmulied g,smsurrrl_eﬂ S euGg @gm (Eg,nma;mn@m

@) Q) wpgd (R) @ren@Gu sl Cugud (R) ersitug) (4) eilpe slunen slarssioneib
(B) (A wopmyd (R) @rar®iGw afl Cuab (R) eremuig (A) eﬁm@j sflwirer eflendainsie
©) (&) ofl yemmed (R) sougy ©

D) (A seum spanmed (R) &l |

53 = GS17
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131.

Consider the following statements consisting of Assertion (A) and Reason (R) and select
your answer using the code below.

Assertion (A) : The main political task of the national movement from 1870 to 1900 was |
politication, political propaganda and education and formation and
propagation of political ideology.

Reason (R) : The press was the Chief instrument for carrying out this task.
(&) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are false _

(Cy  Both (A) and (R) are true but (R) is not the correct explanation of (A)

.(D) (4) is true but (R) is false -

Derreumd i eursdlunisatie Aar@HasiulGearer sapn (g}, sryewrd (1) <& uameusmer &iHEHW
Qarar® &G Qariasiin’(Herar AgmElibla @mbe o s allen_smw dsfley dals.

gl () 1870 qpsed 1800 auewy Caflw @u_lésaagg\ém @gﬂé;(?;a;rrmrra; cflgrmidluig)
@m@m@ﬁ&@gm <irflued Wgsemybd, sdef OHNOL STl (Ea;m_um_ml_
o (meurdl Lrliysea. ]

aryemrid (&) @ ‘ Blasfiewsans e _w usdiflémasamen (pa&flw srseanrs uumﬂu@g)guul_l_@
(A) () odmid (87) 2pEw GrerHingh (&), (a) e &rﬂu_msur clleT@aLd

B) (&) wpgid (&7) Qe Gid Seum :

(C) (&) M (&7) QraHid salssalCw sM yenre (&), (sn) eflar #Hwirean eflerdsid see
@) (&) &, (&) poumy

Which of the following statements is TRUE? '

1. The Government of India Act, 193'5, introduced dyarchy in the provinces.
I1. India council was formed in 1935. _

ITI.  Montagu-Chelmsford Reforms Act introduced dyarchy in the provinces.
IV.  Provincial Autonomy was introduced in 1935.

(A) TandIl _ {B) 1II only

o C I 0%l @) IIland IV

GS17

SpsaamLsubmier sfluneng eg)/ eTencu?

I BB oirss s b, 1935, nrfleamsais @rlen gl Saw siflapstivG i,

I @mdwn seyandledr 1935-60 Aamiristin’ L g).

II.  wrerEeg-CebaGurih  fdmsss 0D  wrhleomwsald  Grlier oyl fdew

Sflpslupsiiug.
IV.  1935-é wrfle swum & gpuBssiiucLg.
Ay Topmoll ' B) IIwiepon
(Cy Iw @b (D) I whgid IV

54 . O




133.

r

134.

o~

kY

If the sum of two numbers is 1020 and their difference is 140 then the num_bers are .

A)- 680, 440" , cd 0 (B) 540,580
of! V580,440 . T @y 520, 500 -

B @ eansailen sl (B dgras 1020, wpmid seuppler eflgdlumen 140 erefler, ibg eraimsern

(A) 680, 440 (B) 540, 580 —

A

“(C) 580, 440 ' (D) 520, 500

Monthly expenditure of a person whose monthly salary is 9000 is as shown in the diagram.
The percentage of money spent for medical expenses is

-

Food
expensecs

Medical
expenses,

expenses

(&)  10% @) 20%
)  30% : - (D) 40% -

5. 9000 g, &Lb‘i_}én‘e};ﬁeb. @@6\1” Spseir_eumm vemgeng Gewe] GEUSTD, BeuT WSS
Qewallpars LwsTuBsSu nanrgdlen sgeign :

@)  10% =i=8 § (B) 20%

€  30% N : (D) - 40%

-

55 . GS17
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" 136.

138.

GS17

2.48 x 2.48 - 152x152

- (©

The value of
0.96
@l 40
(C) 14
248 x 2.48-1.562x1.62 SBCILFein :
0.96

(Ay 4.0

14
If 2¥*Y = 2% =16 then v is
(A) 2 '
@' o
27 = 257 = 16 aafld y ey
@ 2 |
e o

If x+y=12 and xy =32 then i+~1- 18

(A)

(©)

X+y=
A)
©)

1+E
7

(A)
(C)

L

e S

12, xy =32 aaflé — : +— =285
X .')’

B[ 00—

3 2

of 6——==7

10 9

"1

2

1+ (6-—— @Gn = URIE) —-—‘?

(A)
(©)

1
2

56

(B)
D)

(B)
D)

(B)
)

B

)

(B)

@

(B)

3)

-~

@)
(D)

(B)
(D)

4.4
1.0

4.4
1.0

oot b

o @ ®lca o=

o= @




139.

140.

141.

142.

(0) . 720 : D) . . 680

By selhng an altlcle for Rs. 480, a pelson lost 20%. For what amount should he SEH it to
make a profit of 20%7? : - :
(A) Rs. 800 ' : (B) Rs. 760

Rs. 720 : (D) Rs: 680 ) . . -

greur g Qummeflanar 480 erumidE efpuemen Qeligned, SaumEs ls;rg';u@to pagl b 20%.

SiemEE 20% Qaruh deLss Cauan@n aaprd, Sibsl Qurmellaea el adsmen @unm&@ .

s Caugim(Bib?
(A) . em. 800 ‘ (B) . 760

The highest common factor and lowest common multiple of two numbers are 12.and 144 )

respectlvely If one number is 36. Find the other number
A 4 ' I (B) -

(©) 36 . ' _ a)ﬂc;s

@ eramaetiar BOGLI® Gurr;gji smgafl (euEsd) 12, Bafly Quig) (ol migdda. e eTetT 36 eraien
ODQDIT(H. CTERTENGRTE SHITHTE. I

(A) 49 L : ; . B) . B0

C) 36 - (D). 48

Three numbers are in the ratio8:4:5/and their LCM is 240. Then the HCF of these number

is . ~ '
a7 4 : N B) 8
2

(C) 12 : - (D) 20

3:4:5 arenmiedHsSded 2 dram epe sramsafen 5.ALT.0 (B&fmy Gurr:g;j L) 240 erafled @eupmdlen

1. Qum s (Bl G Quirs) sroesfl) eremen?

@ 4 | B) '8
© 12 T @) 20

LCM of two numbers is 14 times their HCF. The sum of LCM and HCF is 600. If one
number is 280 then the other number is

@A), 40 ' (B) 60

-

©7 80 e (D) 100

m cramgafian - 18.Qim.wo <o Seupilen . 5.Qurs. efen 14 wLhsrgd. 5.0urn wHmb

B.Aum.&. eflén g 600 g et 280 ererfled H@m (T eTeRTemTTENS)
(A) 40 . (B) 60
(C)y 8o (Dy 100

57 ' GS17
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143.

144.

(G 5.5% - ) (D) 4.5%

145.

146.

GS17

The cémpound interest on Rs. 30,000 at 7% per annum is Rs. 4,.3.47‘ The period in years is
W) 2 . ®) 2

© 3 . D 4

et Hé@ 7% sl euqulled, gp. 30,000 qpsedi g hamrar aul g . 4,347 ererfled sre iaTey eTHSmen
e (D arend: sent 191y )
@ 2 o ® 2

© 3 , | D) 4

A sum of money doubles itself in 20 years in simple interest. Then the rate of interest per
annum is

@ 5% ' B) 4%
() 5.5% - , (D) 4.5%

a(m QFmans gGﬁﬂ@Jl_Lq_uﬁ]m 20 sugpLrigatied @) (moL riisrdng Grsuﬂeu eU(HLSHDETEm al g aﬁg,l.onsmg,j
A 5% . (B) 4%

The d1ffe1ence between compound interest and the simple interest on Rs. 1,250 for 2 years
at 8% is :

(A) Rs. 2 . (B) Rs. 4
(C) Rs.6 ; ()7 Rs.8

8% euliguieé 2 QUL RIGEREE  ARLITUI 1250&5&%& azsu_@\suuq. wHmb  sefleu y&ELren
ellgHwimFnTang)

-

(A) ¢ epumi 2 (B)  emumii4
) @Lfmﬂ 6 : ) e D) emwumd 8

A flower garden is in the shape of a rhombus. The length of its diagonals are 18 m and
25m. Find the area of the flower garden.

(A) 450m2 @) 225 m?
(C) 324 m? D) 18m?

R LHESM LD Ml s57 aupelld edrang. Sigem qpma el Lisar 18 15, 25 5. usCsmiL sélen
LIFLILIETE STeRrs. '

(A) 450482 : (B) 22587

(C) 3248 (D) 1852

5é _ @)




148.

149,

" 150.

If a square and a rhombus stand on the same base, then the ratio of the area of the square
and the rhombus is
(A)  greater than 1 w7 equal to'1

(Cy equalto —:-l- (D) equal to L

) 2 ' , 4.
FHTLD LD[_DQ}LD FMIFH|TLD @err@m @Crr @{Lq_uuasasgcmga; Qa;rramq.@gg;rr@) &gITD WHMD emiFsysHHen
urliuenellen el sioreng .
(A4) g efle oiflswmEn (B) 15@ swwrEd _ =
(C) % &(& FOOMED _ D) i &(& FLOLOTELD

i

Two taps A and B can fill a tank in 10 hours and 15 hours respectively. Both the taps are
opened for 4 hours and then B is turned off. The time taken by A to fill the remaining tank
is h

(A) 1?“ hours (B) ;—0 hours
(C) 6 hours il m % hours

A B ‘éTGiﬂ[D Gerisa o Asm wulmer wonCu 10 wpml 16 bafiCrrsda Hriu Huab.
Brer® GomiseEnd 4 wallGHrb Anba: of L OLE@ tﬁlp@ GRTl B e ssiuphdng. @g,m_lq_uﬂear
erghdl Ligdlanuws Bliis @g;mu A m@g,gja; @a;rm’r@m Gpyiomens) .

T (A) % Loanfl Croiyih S (B) % mmﬂ@gpz)‘m 2
© bualhn e a LY o %L’Dmﬂ@wm

’

A and B canjdo a work in'12 days B and C can do it in 15 days C and A can do it in 20 days. -
Then the number of days requlred to complete the work A, B, C together is

Ak % &) 10

(Ol W, ) : (D) 20

G5 Geusnavanws A wpmid B 12 porlseflgud B whmd C 15 prisafigb C wpmibd A 20 srlseflgiib
apLur arafles A, B, C @&np@] é{(r_ﬁg, Geuenaen iy & Creneulsi(BLd Hrisaflsr craient&ens

(A) 5 (B) 10 :

(©) 15 @D 20

If 9 girls can prepare 135 garlands in 3 hours, number of girls to prepare 270 garlands in
1 hour is

. 20 N &Y 54

(C) 43 . (D) 19

3 wenfl Gwrsdlar 9 Quensdr 135 wreesamar 5unrﬂ&e€16ﬂmmn GTGUﬂGU @ Loewfl Gg;qg,ﬁeu
270 wrevevsaer swrilss CoeametiLGw CusaTsater Grearrmﬂa;maa
(A) 20 (B) .
© 43 L D) 19
' 59 T GS17
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151.. The sum of numbers common to two diagrams is

~

o) 118 | ® 110
© . 108 - - D) 130

. Qar@ésLiuL_Gerer LL&8d gCaend @ euemruLRISEEEE!) QungeuTs o dererasafier (5

(A) 118 , © ®) 110
(C) 108 ' . (D) 130

152-. (1) D is taller than C but not as tall as B.
(2)y" ' Cis taller than A. -
. Who among A, B, Cand D is the tallest?
A A ' ' B
© C e ' (D) D

- (1)- D eremuicut C—g 68l 2 wipnraneur ermmed B eyereys@ o windléoema.
(2) C erermuieu A~gg el 2 wmoneneu ereiilcd A, B, C wpmibd D-uieb 2 winmemeut wimi?
A A B) B
(e O i . m oD

GS17 g - 60




153.  Find the next diagram.

e =*a

A) - L - | .wﬂ. I:">

©) l_| o o |
2h&S ULGdlanern sa (1. ‘

1@

@) T__\ | | : ®) ==

]

C© P % o | [

154.. Find the missing number in the followir;g'series :
1, 8,964, 25,7, 49 '

@A) 210 ' ® 212
© 214 S ) A3 U

IQG'OTQ.!Qé!.b. Qgm_fe afHuiL TG GG EEITGRT

1,8,9,64,25,7,49 _ .

(4) 210 . S ® 212

© 214 . | © (D 216 N

o} _ o . 61 ' GS17
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155. Match List [ with List IT and select the correct answer using the codes given below the lists :
List 1 — Officers : List IT — Charges
(a) Rajukas 1 .
(b) Pradesikas _ 2
© Yuktas 3. Revenue Collection and Police
, {(d) Dharma Mahamatras 4 District Judge

Religion

_ Secretaries

@ ® © @@

& 4 3 2 1
B) 2 4 1 3
© 4 3 1 2
D 3 4 2 1

Q_II'ﬂGtDE I 2 & auflans Il—enam) Gummsd wrﬂmga;@as@ &p QarRésIul_Rerer @g,rr@uﬁlaﬂ@g;@
shlumer Gﬁ]eml_mu_lg, Goira) dFlia: .

cuflevs | — el cuflens II—Qunrcr)u'Ju
(a) . Urrgvas_r'r 1. &u)u:n.b = i
(b) SrCsefa LS Qaweren (ieeug)) aaflwgils
() wasi 3 aufleu@e HOID Sraue
(d) . gw waTwrsHi 4. wreut FHu

(a) (b) ©

@ 4 3 1
B) 2 4 A U3
© 4 3 1 2
‘D) 8 4 2 b 1

156. Which of the following known as complete fertilizer?
(A) Nitrogenous fertilizer . ' {(B) Potash fertilizer
(0f! NPK fertilizer (D) NP fertilizer

EpssanL o rhisefid wpupenowirer 2 b erg)?
(A)  eplimen o gruser (B) © Qumli.rey o priaen

(C) NPK o pruger - (D) NP eo_gruser

GS17 ) - 62 : ' 0.




157.

158.

159.

160.

is called buckminster fullerene.

(A) - Diamond : . By Graphite”
@) C, : : (D) Coal
LIGLA GG LIT oo | eviTatr eTen DienLpaaiiLi(heug) i G,
(A) e ' - (B) fyrr.aul
(©) Cso . (D) &
Which of the following is halide o_re.? .
' (A) Dolomite - (Bf Rock salt
(C) Bauxite ' o (D) Galena
 &pssamcuppier orgy Caname® SE?
(A) CLrmaventol i (B) urenp e Oy
(C) umsemenl : 1 " A 568 &
The major component of natural gas.is
- (A) Ethane . .4.‘357 Methane
©) Butane : _ " (D) Propane
Buipens eurmy|efled Guagnid LirkiE g
s Rty - B) 5Csen
(€ Gy GLen , - - D) yGriGuen - -

What is the literacy rate of female population in India in the year 20117

(X)) 65.5 percent (B)
(C)  82.1 percent (D) 64.5 percent

75.3 percent

2011-1b yeimg.e0 @pSHwimeiled, asar Gig_érremasuﬁ]sb wsaflit SHDeuT eIFLD P

(A) 65.5 sgalisb : (B)
(C) 82.1 szalisd (D) 64.5 gsaisw

75.3 sgeisbd

63
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i61. - F él‘eign aid can f)erfornﬁ the following gap filling functions in UDCs. ~
i Savings gap _ .
11. Foreign Excha.nge ga.'p
I11.  Technological and Management gap
IV. N atural Resourc.e gap & N '
(A)  Iand I & 1 17and I
(© " TandIl ' @) Monly

cueni&sl el B et Giméﬂ;r;rn'_@, B et Sipssram b B Qeealsamer Blyiug Qeiifng -
L Cadliy Gen_Gleuafl ; ] ‘

I ophu Qseared Ga Ga

ML Qsm@emr.L upmh Hiers G Gosh

V. Quinems euar Glan_Gasafl - . " . )
(A) 1T wpmb I1I . ®) 1, I opmyod LI :
©  Twpgo I . D) ol@® :

-

162. The growth of which one of the following remains an important objective and necessary
condition for inclusive growth?

A Agriculture and allied sectors _. : (B) Industrial sector

. {C)  Services sectors \ (D) External sector - *

Sps@T_aupmET oL aeniEdl wadu CETéswLTsaD. 2 areTlsdul eeTiEEE <ieud

Bupsenerunseyd Sepdng? ‘ . :
(A)  Geuenmesst wppib STTHS SiennaEs6T (B) Qsmfpgieop
(C)  Coemeus genmaar _ ' - (D) Qauefypeysseny '

163. Dunkel proposai was related to .
Wi © GATT -- " (B) UNO
(C) IMF , (D) IBRD

LBI&eT S b @ s e GgmmyemLwsn@Gn
A aml @dug,g,m (B) & B () siee
() - uemant_{ g - o D) cas cutid

Gsi7 . e . B -0




165.

164

R
Consider the following statement :
I. India is a major energy producer
II.  Indiais a major energy consumer

III. India faced powef shortage since 1950-51

. Which 1s the correct answer?

(A) Ionly ° - . © (B) -Ionly
(C) .landIlonly - - WY 1, 11andlll

Epssen cunsdliuhsemer seuefl |

L c%g)g)su s&dleni o (HeuTSED apsdlu ;_r;rr@a;aﬂa) @pﬁmnmm e «

IL. cv:bg)meu s&Henw é.qg‘,]a;mrr&s HI&@D Brpsatcs @BHima b e

III. 1950—516&@‘5@ AbSwuraiicr .:%g)mcu g&d) QgmmhHg) ug)mrra;@a)g)u_lrraa@m 2 _aTeng).
Gleunmer argy) sflwirer eflant_?

A Iwi b : _ (B} M inl(ib -
(D) 1, IT wpmbdll

-

(C) Twppwllwvl @b,

Consu{er the following statement :
Statement I :  Gross Natienal Produet will always be more than the GDP.
Statement II :  To get GNP, net factorineome from abroad is added to GDP.

Find the correct answer :

(A) Both statements are mdlwdua]ly true ‘and statement II is the correct explanation of
Statement [

(B) Both the Statements are 1nd1v1dua11y true, but Statement II is not correct
explanation of Statement 1 .

(C) Statement Lis true, but Statement II is false

\g)‘f) - Statement I is false, but Statement II is true

Bpésa aunsRutisemen saafl ;

woml . Quigs mri® 2pusd alQumpgid G]LDlT,asg, &sw;bm_(a &mug,élsmu_[ &l
- SiflannsGel @(maELb. :
gmpm 11 : GCurss sri® pussew Cuneisne. G]mrrgg, 2 apml (B 2.pusHujen
QeueliprBaatiey @Qmpgs Has@gd Fer smaflsafan eamoransagyn GCoiss
Geuam(phib.
Geubhmar erg sdlwimen eflen_? - ' . ) :
(A Qew(h sFpnsEEGL g,soﬂ;_r,gsaﬂ@u s agmenwe Guan &py I @mpm Isg sfwrer
" afleT&&EWm(EGID. -
B) @uean(® &DQJE@GLD g,eaﬂgg,suﬂ@m EfﬂUJFfG‘dTGI‘)@J G?LD@JLD emg)@j II gpm &g eRwumer
elleTé& e

C) &pml e;rﬂu_lrrsérg], @penred sapm 11 g,mggrrsmgj
D)  smpm I seupreng), yermed sapmpy I sflwireng

65 GS17
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166. Consider the following statement :

Assertion (A) 1 Price policy aims at controlling fiscal deficit.
Reason (1) : Fiscal deficit léads to inflationary pressure.
Which is correct answer? )

(A  (A)is correct but (R) is wrong

(B  (A)is wrong but (R) is correct

(C)  DBoth (A) and (R) are wrong

@)  (A)and (R) are correct and (R) is the correct explanation of (A)

Ep&sanL eunsSunimamer sHaafl © i

sapm (A) Aevad  Qarerans AL upprsGmpanw  Sp  sLEUUESEL  Chrésd

2_GNL_UIST(GID,
smremd (R): BELUDDTEGmD Lameisis B(pSSE5ms o aT_Ta@ELD.
@leupmier sflwrer eflen erg)?

(A A Efﬂ}uﬁﬁb’@ pamed (R) seuprangns o
B) (A seupmang: yemrad (R} eMuinsngmen
(). LDQ'JQJLb (R @Uﬁm®m SEUMTETENEL i, 5LD
D (A wppw (R) Qrar@wb sfuraena npoid (A) é@ (R) sflwrer aﬁ]ma’sa;mrr@;b

-

167. Who was the Chief Guest at,the 45t Independence Day celebration of Mauritius?
(A)  Mr. Najib Mikati h . (B)) Mr. Pranab Mukherjee
(Cy Mr. ShinzoAbe = (D) Mr. Gabriel Costa

GlorBlweDd BIq.m 45-cug sgpsly Sanggam Apiy elipbdents sobg) Quasmaim_auir wmir?

(A) . A pgl Bamg . B) S Qpenrl qpsiedl
(C) . BaGovr Gu (D) S smAAGwIL Cameui_m

168. Who is the winner of 2013 Pritzl%er’Architecture Prize?
@) Toyo Ito (B) Jessica Fnnis
(C)  Seth Macfarlane : (D) Simon Hayes

20131 yamfiésaTar AN avat s ig._ssme Lflens Geusmpeu wimi?
(A) CLrGur @G (B) Qenedlam aremeflen
(C) G QuauiQeGen (D) evsiner Camiieiv
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169. The world oldest lady Koto Okubo, belongs to which country?
&) Japan - (B) China
(C) England (D) Russia

2 avdlem euwsten Guearroenfluirer CarGLr ep@Cur arhs BriemL& Gambgeum?

(A)  giumear . B) Ser

(C) @ndlonsg . (D) rgegwmw
170. Match the following awards with the respective fields,

(a) Borlaug Award 1. Science

(b) Nehru literary Award _ 2. Adult education
(¢) Shanti Swaroop Bhatnagar Award 3. Agriculture
4.

(d) Hari Om Ashram Award Various facilities/eminent teachers

@ ® © @
5 3 2 1 4

B) 2- 3 4 1
€ 4 1 3 2
D)y 2 1 4 3

S\paeit 6fl(HE)FHEHL_ 6T eTenG @g,m_r'rulsm_mmmrj)mm Qurmsgisa.

(a) CGunfems &8l mg| i 1. <iflafihuic
(b) Crm fiQauread ailmay 2. el g U GEair Havel
(0 smpd eveumml Ll prsT allmgy 3. elilgugmuib
(d) anfl b eyevrd allhg 4" = u-s'uGsugg] Fenm o FMraar

(a) (b) (c) (d)

(A) 3 2 1 4
®) 2 3 4 1
© 4 1 3 2
(D) a2 1 4 3

171s. Which of the following is not correct about IRNSS-1B satellite?
(A} it is a navigation satellite
«PY lifted off and placed in orbit by PSLV-C23
(C)  has civil and defence applications
(D) lifted off from Sriharikota

IRNSS-1B Gewupmas Carer ghlss: Spsadm_suhmier argl sfluimang) Side?

A ez emafar Gb dawnemssGarer ‘

(B) PSLV-C23 o a(hsgd Georerin @ spn eul 1 Liumesuds Slanew fimssiu’ L g
(C) Errgpeu LHMID EFTEDIeULDd STTIS LtenLr(HenL.ulg)

® L BanfCart mellafl(mrg CeanssinlL g |

O ) 67 GS17
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172.

173,

174.

Which of the following states do not hév? tiger reserves in India?
(A)  Kerala (B) West Bengal
(C)  Uttarakhand (@) Jammu and Kashmir

SpssarL wrhlokiseha Lelaer urgam:ushd @e{)mrrgs @p&u e srg)?
(A) Garemm (BY Cuwme ecurismenid
(C) = ggyamer (D)  mbep wHmb sraxdt

Transgenders were granted the status of third gender b}-f the supreme court on
()" March 20, 2014 &) April 15, 2014
() June 15, 2014 (D) dJanuary 20, 2014

WAHOILLTETSS6UT S 6T ALOGTDTLD ulrreﬁlcurmrras 2 §aBEIoampd DIRISETHD el BreT
(A) rmE 20,2014 (B) gy 15,2014
©)  @9an15,2014 (D) smemeul 20,2014

Which of the following pairs is NOT correctly matched?

Indian Scientists Field of Work/Research

(A) C.K.N. Patel | Photonics and Laser

(B) Meghnad Saha A Astrophysics _

{C) Benjamin Peary Pal Disease resistant varieties of wheat
Autar Singh Paintal ": Cosmology and relativity

Siemeu(meueneuhmy et fluflevang Geomiy. ergy? ‘
T @pdHu sydefierert @&Lmrrmg‘ﬁu_t Ljeoth / yrmisEd

(A). & .Gs.erer. uGicen : GurLraflgen wpmb Cevar
(BY | Gusprs sranm Co cumed @wmiilwey _'
(C) Qugpsdien Nwfl mey @ Cori gL Lupp Cargians aimasdr

(D) st i eeim_cd &reDTEE) oHmiDd e

Which is the National Sanctuary/Park that houses Pygmy Hog, a critically endangered

_species? :
(A) Gir (B) ZXKaziranga

¢Cy7 Manas (D) Periyar

apDlQID =,LSsIEE oL UBSsSIULL @lamnnrer A& anms aayb 2 «flaigden sramrewions o drer
Csélu spamrmawiid /L BisT

(A) & . - (B snell prisn

(©)  ewsv . . Dy  Quflwar
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176.

177.

178.

Name the proposed new dlStIlCt of West Bengal State in ‘3‘0 147
(A) - Nalhati .[)3'57 Alipurduar
(C) Silda : (D) " Adra
2014 g0 tgg,mnq_m Cup@E ciisTearsda Ldsrs CarpmelsEsliuL aydrar I LD 6Tg)?
(A)  peapli (B) eellyigeunt
(C) SevLrm (D) eilgr
Name 'the Indian origin girl who was honoured as ‘Champion of change in 2014 for their
exemplary leadership in white house? . )
. (AY  Esther Yu Hsilee {B) Dayana Elvira Tores
-§0¥] Pratishtha Khanna (D) Anahi Mendoza
‘G\Gusnenm wraflenguiled wrhmsder Eﬂg;smsmu_merrrr 2014 &g Q.llc.pfalﬁ Aaomeilds 1L @Hiw
euibgmeuyfl Clueirioemnfl wirir? )
(A)  erevgi eded § . (B) swmenm Gmimﬁr;rr AT )
(C)  Grdlevsr apenemn ' ] ' D)  pamdl Qe ram
. Which glacial mohptain region was named after Indian origin scientist Sinha of U.5.A?
\(A(ﬂ South Eastern Antartic __' (B) North west Arctic
(C) Himalayan Peak Region . (D) North East Alps
'a@mrﬂ&&nmﬂ@ @pﬁuu e gpeprafl ﬁm,@mna‘ﬂm Quuir  eiugdde o ubERES
@:,l_l_uut_@\erreﬂgl?
(A) Ggedlpse @{asim_rrmq.a; ) - (B) e L(Ew;b@ 24T &
(C) @wwwenauller éﬂ&;uuu@ﬁ' (D) e fpsa palien
Which is incorrect pair in the following regarding Indian Tribes?
“(A) Bodo— Asom "(B) Ghond — Odisha
(C) ' Munda — Bihar ' 7! Angami — Arunachal Pradesh
}%C’SQ Qar@és i Herer @bl u@@@tq'_uﬂ]cmrﬂ‘eb TS B)enenTEeT SeumTens)
(A)  CunGLr- =Csmbd (B) Camawrn = PUFT ,
©C) pawrm — Gand | ‘ (D) omsEns - smarrel) GgGasn
69 - GS17
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Which of the following is not true about Right Livelihood Award?

180.
(A) The award was established in 1980
(B)  Itis usually shared by four persons
(C)  Itis known as Alternative Nobe) Prize
(‘Dq Pre‘sented annually in Brazil
el madeiab afmg) @gﬁlgg &g_:ase&ummﬁ)gjw oTg) &ﬂwnmé@w?
A cueimg 19801 e qpu@ssiL_L g
(B) Gumgeurs égmsfﬂ@g; Bren@ Guiyme L&lTHg @a;rrmerruu@eﬁ]rpg]
(C) oevelmg wrbmy Gerue ufisras smsliLGdns)
(D) %‘Gkur@\@gng]m GCpélellen euprusliLIHEm s
181. Match the following : :
(a) Rhinoceros 1. = Desert Plains of Rajasthan
(b} Hangul 2.  Kaziranga National Park
{(c) Gharial '3. ~ QGorumara National Park
(d) ) Great Indian Bustard 4. ° Dachigam National 'Parlk
. @ B © @
A 1 3° 4 g
B) 4 2 1 3
© 3 1 . W Y
@y 2 4 3 1
SpsewLeupennL: QurhsEs :
(a) " apa@wLm LS)(meLD I FIEREVBTEN LITEnEveL e FoGleuafl
(b) anmssd 2 énﬁrjr.r;;asrr Codlws mism
(€) sgiiyfle s 3. smoTrr Caw Lmisr
(d) &Cr_ @pHwan e~ 4 Ladlamd Gaflw ket
@ @ @
A 1 3 4" 2
® 4 2 1 3
C 3 1 2 4
D) 2 4 3 1

GS17
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183.

184.

185.

IRV 2020 project is related to . -
(A) Wind energy project "+ _ (B) Solarenergy project
(C¥) Rhinoceros conservation project (D) Ganga River purification project

¢
*

IRV 2020 gl'L_ib eranig) @seulen Asmiygamwg -

LA smppesS HlLb B) &fwess ﬁh'_lL_L_b

(C)  eopCanméymen LmgETUY Ql'_l_l_b ‘(D) siens pd gnienwluBssid FlLb

GM (Genetically modified) potatoes developed by British scientists is resistant to Wthh
disease? -

(A)  Block dot : “ @ Late blight

(C)  Pinkrot ' (D) Potato spindle tuber

ande olderalsamd GM (ojugy wii GHo u:\rrg)gﬂwemma;&;uul_u) as@emmeaé]%prs;@ Grib |
Crmullenen erdlid@Dd gjearsmmu_geml_.u_lg,ﬂ '

(A Nerms Lm

(B) Cel_ MeneT_

(C)  Yems gol

D) e meers HALL s 1y (G TGLGLT 61l 6tiqied |y LiT)

Which are the countries participated in the Bilateral air exercise named “Garuda V”
conducted in Jodhpur, India? . '

%4 India and France (B) India and Russia

(C) India and America + (D} India and Singapore

" @pSHwnellar CongLT pafc bLSsILLL aa@_rr & renylh @)(HSILIL| GuTEH @@uuuﬁ]mﬁuﬂm Fehg)

Cl Emaim L B E6T areney ?
(A ‘@idwr eomib Gyreren = By @ndur wHmd yeigwir
(C) @ndlun mg’)gﬂd} tg){CJLDrﬂejsaarr : Dy @Eﬁmn LD;}')Q;L'D Hrasliy T

Graphene is used for manufacturing bendable smart phones What is the other field for
which it can be used? :

(A)  Medical Radiation therapy ; (B) Super lenses
(Cy Quantum computers . ?) Ultimate water purifier

DL &&H&8niq Ll GOLOMTL malGLAsamar g;u_lrnﬂuuﬁev oo Gemn uwmu@gguu@aﬂmgj Cogib g
LusTU(BHSSULIERILD g;emrp GTEI? -
A)  oEsze sditedés eus Hleuryad (B) &b eflevenevamer

+

l . (©) @eurenH saflafladr ! D) . o Gwl Er ssdsfliiy stgend
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186.

188.

189.

GS17

Which world heritage monument of India was affected in the storm of May 30, 20147
(A)  TajMahal - )" Humayun’s Tomb
(C)y  Tomb of Safdarjung (D) Sultan Raziya’s Tomb

G 30, 2014e gnulc ue FHpssred Snésuul L @;‘f,.é,]urraﬂsh o ws dysren sargeny Herand
6rgy? ‘

(A)  sTm wane ’ (B) efwmyer @

(C) slsimd b (D) wevgren pFwir Fib

Which of the following disease is not caused by bacteria?
(Ay Malana (B) Cholera
(C) Tetanus @)} Dengue

Eipsarr_cueseudmiar, aThs CHM UTslefUTSsaTe 2 (HaurTGEILL TS ?
(A) wCefwr , ) (B) sregm
(C) QL Lemsv ' (D.) Gl_mig

Which 1s/are correct concerning the Administrative Tribunals Act?
1. It was passed in the year 1985

2. The Act includes both the Central Administrative tribunals and the State
Administrative tribunals

(A) lonly (B) 2only
(9] Both1and?2 (D) Neither 1 nor 2

Aireurs Sriumuibger #LLID Qem_Turs ergl/eraveu sluiraienal?

1. =igr 198560 Quipmiiul L gy

2. =g wsHu Hicurs SToumubd wrfie Breurs Sruumub e Gpeama b o e _dduig;
A lol@o B) 2w o
(C) 1 opmib 2 gypélus @rer@ibd o (DY 1b e 2ib e=ydien

Who decides whether A Bill is a Money Bill or not?
{A)] Speaker A (B) The Finance Minister
(C) Finance Secretary (D) Leader of the Opposition

+

@ Gergremeu Lewr WEETST TaD (Llg.6 Qeiiaugl wWm?
(A)  sumBTLST “(B)  HE siemwast
(C) P Qeuiemrert ' . (D)  ehial s seneeuit
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190.

191.

Which of the following are/is stated in the Constitution of India?
1. “The President shall not be a member of either houses of Parliament -
2. The Parliament shall consist of the President and two houses

Choose the correct answer from the codes given below :

Codes : ' ‘
(A) . Neither 1nor 2 ' @ Both1and2
(C) 1 alone . (D) 2alone

Epseim_submer irueennll #L gl Golud LUl ([Herereney eTaneu?

1. BlqLiEs Senaeu UrgIrEseanD Gl slensusafiend o mlnferyrs @) (més wm i
- 2: LITPTEHLOETDLD GTemLIg)] G5lg &S Senaeul pHIb G Sieneusemaru b ClsmawrL_gmELw.
Spaaim euflenguiley sflwimen aflenLanwi Carey Qe : - ‘ ’
auflens : -
@A) @Gl 5o B) @renGid ‘

(C) qem w Hid J o (D)  @uew(H oL (D

Who among the following became the Prime Minister. ofIndia without being earlier the
Chief Minister of a State?

1. Moraji Desai ) . o ot

T 2. Charan Singh
. 3. V.P. Singh

4.  Chandra Sekar - _ ' , =
Select the corréet answer frem the codes given below :

Codes : ) :
(Ays L2and 4 - ' (B) 1,2and3
(©): 2enly oy & 4only

SpsaLeuisailed wir xﬁ]l;rglmurreur'a;gb@ (gp‘ainurres rhle (pseeuTHaTTS LJ,;;-,G)S] mﬁé&ng@ﬁ&@?
1: Quomprell Caemi '

2. erryenar S

3. a9, A

;. spRriaat

‘Blpaan_suple sflwirear eflenL_eniw C’Sg)r'r,['r;@lg,@ ;

aufflens : .
(A) 1, 2mpmb 4 ' “(B) 1, 2wpmb 3
©) 2w b . - (D) 4wlpwn

‘8 ‘ . . GS17
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192. 'The' Chairman of the Official Language Commission in 1955 wa's-
(A)  Gobind Ballah Pant
@& B.G. Kher : s ' ‘
(C)  Dr. B.R. Ambedkar | '
(D) Santhanam

1955 e;.y,b yainniq.ai P G oy amamusSlen semaeuTmas I_IGUUﬂU_IrTf_f)@llJG;Jﬁ'
(A CGamd@p urem Lrem_

(B) B.G. Gsn

©  réliBR. subGusani

(D) FHSMEID

*

193. The National Commission for reviewing the working of constitution was headed by
M.N. Venkatachalaiah was setup by the Central Government in

& 2000 _ (B) 2001
(©). 2002 —— - (D) 2003 .-

Sirdlweamwlifer Qewdum_eal wneyie] Qeuughsrs M.N. QetisLrdsoamawur ganaamwuia

Cadlu penenmuilh enDeHUL L. e (h
" (A 2000 \ ) - (B) 2001
(C) 2002 N (D). 2003

194. Which Article consist of the provision relating to composition and its power and functions of
the Election Commission of India? - -

() Article 324 - : (B) Article 356
(©  Article 370 T (D) Article 243

g el QbHw Caiged amammurssen cwsmlmuq. siflaryd LD[_i’)Q;LE) UewflEener o_erenL_&dlueTeng?
(A o948 324 (B) @94 356 '
(C) 84 370 . ‘ (D) o4 243
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195.

196.

1. building a 3 tier structure of Panchayat Raj
2. rese.rvation of seats for women: ) .
3. withdrawal of the right of govts. to hold elections to the Panchayats
4. taking away the right of State Governments to give grants to the P-anchayats
Whi;:h of thege statements are corre.»ct?l
A 1and?2 o B) 1,2and 3’
" (CGa @2MBand = (D) 1land4

Which of the statements given below is/are correct?

1. The State Election Commission supe1wses and conducts the Election of Panchayats
and Municipalities in the state )

2. It also supervises and conducts the Election of the State assemblies and the
Lok Sabha . .

QA()’? lonly (B) 2only,

(C):- land2 (D) * None of the above

£Cp Qar@ssiu L aupper erg) sAumer sifléams?
1. wrfle Csisd pamarud, wrblosdade LghsTussy wHnb perm_flsaflar Corgane
BLggeugin, Cupurieeuud (Heugib

2. wrfle #LL_gmu whmb wasaransu Camsaaamet BLgieugib, GupurieneuulHieugn
(A) - 1lwl@b . (B) Z2wl@®n
(©) loppn2 _ D) Cupsmdiu ageSeoame

-

Consider the followmg statements

73 Amendment of the Constitution has prowded const;ltutxon sanction for

Elasteumid smhnsamen s(HEH0 Qarars.

Teugy srfwe fmss s wGsrgm e Ylemeu(meuaeunmi&@ eul s QeligjeTeng)
1 LEsETLSE T8 3 DHES werperw FHLDSHIeS )

2 waaflpassmar el @)L g&as0H |

3. LEpsmuGZHaTen GoiTgeane ‘r_r,|_g,g,1m < Slamyb c’l{i]&i‘r(’ﬁl&;ﬁ@l_@@[_ﬁg} &b @U[DLJL_H_.L_QJ

4

obley yFThISREHET u@&rrtug,é],r_r)@ B auprigd o Mepwo LHEsILCL gl

@eupiler sfhwures sadm 615)?

(A)- 1ohHmd 2 . ‘ B) 1,2wpmwb3
C€) 2, 3womid 4 : D) 1 wppod 4

75 . GS17
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198.

. In whjch-year, the Lokpal Bill was not introduced in the parliament?
(A) 1968 ' - (B 1971
(C) 1985 (26) 1978

ECip i@;ﬂlﬂlﬁ]L@GﬁGﬁ‘ e HEafiar CaorsLme wiers ahg amgd M psiu®Es I L efldranes?
(A) 1968 . (B) 1971 .
(C) 1985 ' D) 1978

Which of the following institutions have been setup by Govt. of India to check misconduct,
malpractices, corruption and misdemeanour on the part of public servants?

1. Central Vigilance Commission
2 Lokpal

3. Special Police Establishment
4

Central Bureau of Invtestigétion ‘

Choose the correct answer by using the codes given below::

(A) 2and3 = ’ ' (B)' land4

~ (C) 3and4 ’ : (13{’ 1,3and 4

- rel vl safldDefigfCelnfler seiprar pLsms, c%en orprL b Jeigea, saped, edd Sme

Cumenm ue geauprer | \QeuLsETEsETs GHAU STETASD SpEsETL _GhS  DewlLS®T

THUBsAETeTE?

. B LSSl e miiey SN (<i,enearTiiLh)

2 Coré; Lime>

3. FApliy smeud glenm

4 wpfueaa g

&Gy Asrhasnur Gerer @@ﬁ@&aﬂsﬁ]@ﬁ,g sflwres eflen_enwid GCoHTHEESMH.
®)  Zupph3 . ® 1bppo 4

©) 3vpmbn4d | D) 1,3 wpmw 4 '
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199.

200.

Which one of the following action amounts to violence against women?

I Physical assault _

II. Creating hostile atmosphere at work/home

ITI. Teasing

IV. - Making humiliating/displeasing remark

(A) T1andIIonly (B) I, II and III only

). I, M and IV only (D) ILTIandIVonly
£Q‘§;a;é§m_ eThs Gawed waafleny G nSFIISDE FLT6Ng? .
L o L fflwuns e nissieig

II. wemfliyflugd @ gdleb/afi g G]GLIQJLJLJ[TGW G @ e;rgpu@g,g.;sug,j |
ITII.  Gaedl Q&u_taugﬂ

IV. sawrau@sgieug/@fleurs Cuseg:

(A) Twpgd Il oi@n ®) 1, II wpmid I ol Gid
© L ILwpmd IV or@o S D) IL I wpmn IV o G

Which one of the following isfare wrongly matched?

{a) 21 Feb. 1947 1. Submission’ of the report by the Drafting
_ Committee 6 the Constituent Assembly
_(b) - 150ct. 1949 - r 2, Acceptancé of the proposal - of " the
¥ ) DraftingCommittee :
(@ 26 Nov.1950 . 8. = Members of the Constituent Assembly
k ' : appended their signature ’
(d) 24" Jan. 1950 ' | 4. The Constitution was adopted
(A)  Both (a) and (¢) are wrong "+ ' (B) Both (a) and (d) are wrong
(C)  Both (b) and (c) are wrong - Oﬂ Both (¢) and (d) are wrong
‘%ggé;a;mt_srmeu/am’a.sm sflwrs @eanssliuL_cfdme?
(@ ' 2L %ageufl 1947 1. sigflueenoliy  fliemmus @@aﬂl_m © SiMldens
: . ) gomdsstiul L g .
() 15, =&sCmur 1949 2. sflsams surfss @qpelen a;@g@a;a;m gHmS
' Qamereriin L mr )
“(e) 26, peubuir 1950 3. Sirfweamoliy Hierudg @upeder :*J_gjulﬁlamrasm
' Siflsamnsude enslii(psH LT
(d) 24, garaufl 1950 - 4. @flwambliy Speuliul L g
A) (a) wpgd () geumy (B) (a) vpyd (d) seum
©) - (b) pmid () saumy D) (o) wpmd (d) seumy
7 7 (A , ' GS17
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